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Test Bnokrlet Code AAYR U S ' This Booklet cbntainé 44 pages.
%88 Hgddn 8 & B55ins® 44 Bder 453,

Do not open this Test Booklet until you are asked to do so.

Lot TRVSEB, & $8g HR) BEHT.

Read carefully the Instructions en the Back Cover of this Test Booklet.
& HJ08 D50 HdS” nSwsS Frded g SBBl.

8.

Important Instructions :
1.

The Answer Sheet is inside this Test Booklet. When
you are directed to open the Test Booklet, take out
the Answer Sheet and fill in the particulars on

_side-1 and side-2 carefully with blue/black ball point

penonly.

. The test is of 3 hours duration and Test Booklet

contains 180 guestions. Each gquestion carries 4
marks. For each correct response, the candidate will
get 4 marks. For each incorrect response, one mark

" “will be deducted from the total scores. The maximum

marks are 720. |

Use Blue/Black Ball Point Pen only for writing
particulais on this page/marking responses.

Rough work is to be done on the space provided for
this purpose in the Test Booklet only. -

On completion of the test, the candidate must

‘hand over the Answer Sheet to the invigilator

before leaving the RoomyHall. The candidates

“are allowed to take away this Test Booklet with

them.

" The CODE for this Booklet is Q5. Make sure that

the CODE printed on Side-2 of the Answer Sheetis
the same as that on this Test Booklet. In case of
discrepancy, the candidate should immediately report
the matter to the Invigilator for replacement of both
the Test Booklet and the Answer Sheet.

The candidates should ensure that the Answer Sheet |

is not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No. anywhere
€lse except in the specified space in the Test Booklet/
Answer Sheet.

Use of white fluid for correction is NOT permissible
on the Answer Sheet.
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s HEsn SOF HITHS 6o, 38K HABE
BESBobobr JPH0DS Shard, smw HEsn &%
2o-1 5O o-208° apmrs =6 Franots HSE°
Srgsd Ddved Dobod.

$H8E Soahdo 3 Hotws HOAED 588 HHEES® 180
BHheoamon. (B8 HHD 4 Srtnes. $OES SEPErTS
©308 4 Srdne SEgREERD. 08 Shp Jreroeld
a8 SR o Srtinw 008 BVIFG. KOY Srlnw
Rozg 720.

&% Hdp DHocer ovRHSPE HOID wITBIN
$HBoBLHpE wr/ems wd SeometS DN SriFsh
GH@rhoTd,

5% (rough) $2 & H0F HXBEES® @S :ge:a"méa
SeBad BAgO.

558 o Shard oy B0Y HES H6D SRS
Sootmr, warey S8°Q) S8EH08% 238ELE
(nvigilator) SHR80H o8k Doy, 508 B,
@éég $58° S5, -

& Hssn Doty 8 Q5. wara HFo T -2
2 B0(BoDS SE & $8E 9580 6 TO8° $oDanodd
dopdea Bosfold. DBD FSoggdw Y 3, o5
& Doty BSORBHE §j8 oDy IV SBK HYE
$oBay warar HBSn Dolod PoBHE)y

a0 HEBD HKE DD, eTro HER warohd
Ao Achord. & Gy 8% Soath (reoll number)s
$8% Higolsaran HBos® w8 IS $oos’® show
B Sl oochErsd. | |

nve SEEns® S5bmen BohedH SBEFRoD Bd
$5En IRGoSaddb.

e

ﬁn. case of any ambiguity in translation of any que _
whosed® WL Koegdo éé&%ﬁ, Englishé® &0 %8560 gelowrd.

stion, English version shall be treated as final.

Name of the-Candidate (in Capitals):

568 Gt B (3 efced’) :

Roll Number . in figures
(Ea5a Bogy : woas®
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Centre of Examination {in Capitals}) :
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Q5

Identify the correct pair representing the
causative agent of typhoid fever and the
confirmatory test for typhoid.

(1) Streptococeus preumonige | Widal test
@  Salmonella typhi/ Anthrone test

@  Salmonella typhi! Widal test

@  Plasmodium vivax ! UTI test

Which of the following pair of organelles does not
contain DNA ?

(1)  Chloroplast and Vacuoles

@) Lysosomesand Vacuoles

(3  Nuclear envelope and Mitochondria
(49  Mitochondria and Lysosomes

Which of the following can be used as a biocontrol
agent in the treatment of plant disease ?

1)  Chlorella

2) Anabaena

(3) Lactobacillus
(4) Trichoderma

Due to increasing air-borne’ allergens and
pollutants, many people in urban areag are
suffering from respiratory disorder causing

~ wheezing due to;

() inflammation of bronchi and bronchioles.

(@  proliferation of fibrous tigsues and damage |

of the alveolar walls.

(8  reductionin the secretion of surfactants by
pneumocytes.

(4 benign growth on mucous lining of nasal
cavity.

Xylem translocates :

(1)  Water and mineral galts only
(2) Water, mineral salts and some organic

nitrogen only

(3}  Water, mineral salts, some organic nitrogen
and hormones

(4 Wateronly

Cells in G phase :

(1)  enter the cell cycle

(2)  suspend the cell eycle
(3) terminate the cell cycle
@)  exit the cell cycle

[ English+ Telugu |
Baronl sBEnd s HJS sEs0D,
Baronk e B85S Sr008 $OENS ws
iBoSol.
D) (DT SyImoch | 36 588
@ DgTer Il eofS B85
@ XTI B 35S %68
@  FD9bavo Joe§) ! UTI 584

& (808 Be KrEoMTe  wE6® DNA SO ?
) 5y Sboto 68%en

@  PRE oo 5000 BEKen

@) Sos $63580 Mok PossrolBas
@ DPsrolfckr HBcn BRSE K

InHe g DS &% (Bod ardst F0Q
E50cdollen Hsen® SSDrAoBHL 7

O o

@ e

B  rardes
@ EE%oy

™0 o ahoh JES) SO sevde Heb

Sheres® ZdoH o Sdnes® L3 B

Kowor Wided® wsomant. ad 80 Sos

Benihd :

D Sxdedgen SHoakm ErodGrdiv =%

2 SodrdSnd Kmeroo EITE SoBAD
TS e Aien Bey®istio
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(surfactants) &rHd

4 >BHSES Lo gaﬁgﬁ‘deﬁ‘ﬁ DBy
SEVEBSD 500 DL

D égﬁ:‘oéﬁe&o Boboie -
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5080 $5EE%e0

@ D% ShsDH

Gy 886° 63y e
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[EngleheTelug] Q5
7. .}J_‘_.,r.._lﬁ[rhich part of the brain is responsible for | 7. &R EHEH KO ot D grridn %Ko ?
T “'tgjfffr;:qré'g;u;ation? @) eRt
(1)  Hypothalamus @ SES Sfms
@  Corpuscallosum @) Dothoep seronier
(8  Medullaoblongata @ blwo
) Gexebram 8. SoisDol sotskp S58PoHRS® & (Bob D
8  Which of the following immune responses is £ (immune) ©5HBD ergigd H3rrgol ?
_ responsible for rejection of kidney graft ? 1) Sogls astorgS ed8cd
‘(1) Humoralimmune response @ D sxogd ed§ch
(2) Inflammatory immune response @) S DAHBE kS eBad
(3) Cell-mediated immune response @ o6 XS oo,
(#)  Auto-immune response 9. BN Bed BHBBAg 508 soerd) Boliferos
. - tion) &pdo ?
9, What is the site of perception of photoperiod (percep 011)?‘_0 HD. oy
necessary for induction of flowering in plants ? @H 28 5:5“? (BEQos8L))
() Pulvinus @  som{iae
@ Dgren
(2) Shoot apex
B8) Leaves @ gy &5sren
(4) Lateral buds 10. & (8od egaged® b SOENH ?
1) BEdLesne® Frolibodire Swarein SO
10. W}_}iﬂh of the following statements is correct ? 3@33556 $08 KoBorr erd B pBacor st
(1)  Cornea consists of dense connective tissue @) HESbodH Sogrsetorr, FEEGForr
of elastin and can repair itself. éD& eof¥ 8E Peres® &oHgs
R DIYHSRISGInUSE, frafisparent layerwhich ). BEdooR PSS Eoxns Sr@Sk KOA
o e sothdo. =0 o @k ©8 YIS
(8) Cornea consists of dense matrix of collagen Fooisn :
and is the most sensitive portion of the eye. @ :
. ; @) HESGosH wE wedegor, ardsgEom,.
(40 Cornea is an external, transparent and ﬂ:ﬁ 56 3 y
protective proteinacious covering of the PESE Qe[ SEmm LoBKay
eye-ball. Shilslelalevsing Seple!
11.  Which of the following statements is incorrect ? 1. & (50d 3:52_5&355 2)&3?65@0;6& Eﬂg’ ?
(1)  Clavicepsis a source of many alkaloids and () gORGHok &3 eoxrontes SHdcm LSD
LSD. 0NN,
2) Conidia are produced exogenously and @ S 8?'3’”?.:50”“ Bk Eﬁﬁ&ﬁb&@
ascospores endogenously. wodrdorT dgsERan.
(8)  Yeasts have filamentous bodies with long 3) &Fw FEZS ocdoerod dodkHeo e
thread-like hyphae. S0 VUEeo. ‘
(4)  Morels and truffles are ediblé delicacies. @) rBSen DHOBA (EopRen 8y HOBEIN
. SdmosEoren.
12. Which of the following is the most important cause |
for animals and plants being driven to | 12 =20&Heo B> SnHen Devd (extinct) HerIS
extinction ? & (808 U’ D (Hers sbwo ?
(1) Droughtand floods (1) S5 HBckn HBten
(2) Economicexploitation ) &agéon“ 56&5?’53&:: (BEconomic exploitation)
(8)  Alien species invasion (8) H¥erédve (Alien species) e|Eves
(4)  Habitatloss and fragmentation 4 EE_JPR"J K3¥o SritSo SoBcsm BwgHen seaitio
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Q5
13,

14.

15.

16,

17.

18.

Englhi-Teluéu]

Which of the following sexually transmitted | 13. Bod BohSore SoEood & TSR0 Sorgore
diseases is not completely curable ? S0 Do ? =
(@)  Chlamydiasis B BArRD
(4  Gonorrhoea @ HS%are
Which of the following ecological pyramids is | 14 & (508 &35 DEDE Fgedemore SoBoenr
generally inverted ? (inverted) ésoénod ?
()  Pyramid of energy (1) 48 Jomoy HEE
(2  Pyramid of biomassin a forest (2) ey XEH0e8 Somol HELE
(80 Pyramid of biomassin a sea @  Dwlts 85 |BS5or8 Sowol DELE
(4  Pyramid of numbers in grassland @  DE oabes Sogry Howol HEE
15. Ho SO & &8 @) 3
How does steroid hormone influence the cellular ;; '% R 68&@ MR Seniiso
activities ? L r
(1) Binding to DNA and forming a () DNA& =05 iy BSg - ;35553’;53 mﬁé‘w
gene-hormone complex. ooty
(@ Activating cyclic AMP located on the cell @ Seadiyso B &) P8S AMP & a8 S50
membrane. B ©sEPOS TR VoK WRoabme ebhey
3) Using aquaporin channels as second @)  Sedlyss BT ¥Begae Syt TRROe
FeRAcTigEr. N 16. % (808 O Bokd GBS eHB0sEE Doty ?
(4) Changing the permeability of the cell 1) Bois é@ﬁg;
membrane. ®
2) Eﬁ:d:i)%ﬁcﬁso mO%
Which of the following muscular disorders is @  erengeso
inherited ? @ B
() Muscul E_” flySth_’hy 17. oo 8re af) >estnod® 1d shen &850
@ Myasthenia gravis IooH DtpFotran. B8 BSOS 600 &
@) Botulism BoBDE® HBOSOA -
(49) Tetany D 0P dere G5
Grass leaves curl inwards during very dry @ Fos HEosS Lnereos” oty R
weather. Select the most appropriate reason from é"mo“'ﬁ’g‘; Lo
the following : B hred 8BS RSe
(1)  Flaccidity of bulliform cells - @) SHsYolgren SoedbERS8SS0
@  Shrinkage of air spacesin spongy mesophyll | 18,  SFcHEBROS® Dehte BavS P Bo@rK Dee
(3) Tylosesin vessels Goo¥) g5DESgo (fate) DS ?
(4)  Closure of stomata (D) @f@_ @é&émoéﬁ SoG@rio Botharan.
What s the fate of the mal o dischareed @ a8 @)ﬁﬁémo@s SoBrifo Tothéod,
e fate of the male gametes discharge P .
S T—— SOADSD (D) JFcH e Bohos® Jod@rrio
() Al fuge with the egg. ‘?’:g’é’gg (z‘}ﬁ?;“? P
(@)  Onefuses with the egg, other(s) fuse(s) with @ e SR SER0 SR 60\/ o
S o - 50000 DoADES Hatisses Soissod® Sodoeiio
(3  One fuses with the egg and other fuses with TOLEOB.
central cell nuclei. @ 88 @&aémo@ So@rro Josod,
(4}  Onefuses with the egg, other(s) degenerate(s) DADIL (D) 35tah Ewos® $Boado
in the synergid. (583Jrow).
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English+Telugu

19.

20,

21.

22,

Thiobacillus is a group of bacteria helpful in

carrying out :

(1)  Chemoautotrophic fixation
(2)  Nitrification

(30 Denitrification

(4) Nitrogen fixation

A gene locus has two alleles A, a. If the frequency

of dominant allele A is 0.4, then what will be the-
frequency of homozygous dominant, heterozygous.

and homozygous recessive individuals in the
population ?

1)  0.16 (AA); 0.24 (Aa); 0.36 (aa)

2) 0.16 (AA); 0.48 (Aa); 0.36 (an)
(3) 0.16 (AA); 0.36 (Aa); 0.48 (aa)
(49 0.36(AA);0.48 (Aa); 0.16 (aa)

Match the Column - I with Column - 11 ;

Column -1 Column -II -
& P-wave @ Depolarisation of
. ventricles
() QRS complex (i) Repolarisation of
ventricles
© T-wave (iii) Coronary
. ischemia

(@ Reductioninthe (iv) Depolarisation of |

size of T - wave atria
(v}  Repolarisation of
atria.
Select the correct option.

@ 0 © O
®» w ® @ O
@ @ @O O @)
@ @ @ &
@ G @ G @)
In a species, the weight of newborn ranges from

2 to 5 kg. 97% of the newborn with an average
weight between 3 to 3.3 kg survive whereas 99%

of the infants born with weights from 2 to 2.5 kg’

or 4.5 to 5 kg die. Which type of selection process
is taking place ? -

(1) Stabilizing Selection
(2) Disrupt;ive Selection
3) - Cyclical Selection

(4  Directional Selection

b

‘.Q’5
19. Farades of fddre Shmdro & 808
BBob SrEBibkos : o ‘
1) BFCHS Byabo e FBE
@ BeES |
@ &3BESS
@  Sed P5S

20. o kg SRS A a ‘e Bt cﬁn{%&)é&a}sﬂm
0. 2DFE8 cwifDsey A @5‘; D aﬁ)éega"m 0.4

wond © awgrs® Shakorys mgsn;;am: Bdochoifjes
Lobaio DRSS alorfes @oéﬁiﬁ Eﬁ5§oe: P g

£ DHore GotH ;
() 0.36(AA)0.24(Aa); 0.36 (aa)
@ 0.16(AA); 0.48 (Aa); 0.36 (aq) -
@  0.16 (AA); 0.36 (Aa); 0.48 (aa)
@  0.36 (AA); 0.48 (Aa); 0.16 (aa)

21.  HBE - I SO HEE - I o BB,

505 - 1 58¢ - I

:;(55 P - o () =t ABDERS
(b) QRS Hoggio (i) esBogo SDFOBBAS
(©) T - $BoKso (i) &80 GjTocse

@) T - coriy Sosrmo Erpts (v) E0e EPepdns
) &g5e EDPERS

$OGEE DYERY oW .
@ ®» @ @
m ™ 0 @ O
@ & 0 ® @ |
@ @ @ &
@ @ © @ @
22. of 8 g HES 8HH oD 2-5kg ©
$EEr Both. 3 - 3.3 kg abop¥e Bdre HES
BHHoet 97% @sre, 2 - 25kgém= 45 - 5kg

exoide 99% SHi5en a'ma&oamé aﬁﬁ :b BEDS
S0 HHBY Seddod ?

(D $DBAOR Seadin

@ Do Stk

@ SBcdH Stesw

@) Becchs Steasn ‘

L ]
Qcollegedunlaa
India’s largest Student Review Platform

—




Q5
23.

24,

25.

26.

27,

Consider the following statements :

(A) Coenzyme or metal ion that is tightly bound
to enzyme protein is called prosthetic group.

(B) Acomplete catalytic active enzyme with its
bound prosthetic group is called apoenzyme.

Select the correct option.

(1)  {(A)is true but (B) is false.
(2) Both(A) and (B) are false.
(3)  (A)is false but (B) is true.
(4)  Both (A) and (B) are true.

Placentation, in which ovules develop on the inner
wall of the ovary or in peripheral part, is :

(1) Axile

2) Parietal
(3) Freecentral
(49 Basal

Which of the following statements is not correct ?

(1)  The hydrolytic enzymes of lysosomes are
active under acidic pH.

(2) Lysosomes are membrane bound structures.

(3) Lysosomes are formed by the process of
packaging in the endoplasmic reticulum.

4y Lysosomes have numerous hydrolytic
enzymes,

Phloem in gymnosperms lacks :

(1)  Sieve tubes only

@)  Companion cells only

(3)  Bothsieve tubes and companion cells

(4)  Albuminous cells and sieve cells

Which of the statements given below is not true
about formation of Annual Rings in trees ?

(1)  Differential activity of cambium causeslight
and dark bands of tissue - early and late
wood respectively.

&  Activity of cambium depends upon variation

in climate.

(3) Annual rings are not prominentin trees of
temperate region.

(4)  Annualring is a combination of spring wood
and autumn wood produced in a year.

23.

24,

25.

26.

27,

[English+Telugu]

Bod (HFSPed BoKHoLHSD

Q) 2088 (FFEHE DHH™ ©0fEJS
BFQoBD o S ocirid HFREE
RRREREDOTD.

(B) EFREE Shuriros® e Joey 4S8 BES
NOBH IPI0BED B WO,

JOGH Di)ER) QoHEHHw.

O (A)K0G50 0 (B) 98GSH s

@  (A) DB (B) Toth SOFTHD =08

@) (A)DBGHO 5% 0 (B) $BEH

@  (A) Bk (B) Bod $8@BoSY

Q ®OETNKOS® worren, worrdah S%50 Hikso T
HBBHSH grifos® @é}e’aa% Dothmeon ?

(1) ofch

@2 B

(3) %5@ Solis
@ 58

& Bod Tgmms® DO BOFTHD T ?

1) PIPHes =0dde ST e
pH &* &asrdoorr aotrom,

2 SERSen S B Joren.

@) ©od0s (Sgereod® 8ol Jeesosy
SFEDen D sErom.

@ BIPJoos® 9IE 20dBRe T3S
QO&IPCm.

oy Derod® PRE Snaroo I DA ok :
1) ool Tegren FrE

@)  SeSeres Sl

(B) ol Freven MBS $iFnres Bokh Sroe
@ oot Seren LB Tred Eeren

HEred® gy Sodiren DEKErIS Howohod &

Bod argages® D BOGEE Tt ?

(1) Dgrey Cerd® DFEE Bosrdod Sy S
Sobcin NP SLo Ko wfe (light and dark
bands) Eeereren - SWEMP &9 BB, wois
3% DY hmecm.

2 Dgra SwrSd (@ordeod sreErddnod®
IrEe B eErEHG cnoénod.

@) eER Hokuod Hiped® s Seakren
200D SAXIT™ oy,

@ 0 Sodbo ¥ Sodgsos® Gy Shos
oty BETEhdHe Yay#so.
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[English+Telugu]

28.

¢Eql)

Drug called ‘Heroin’ is synthesized by :
acetylation of morphine

(2) glycosylation of morphine

(3) nitration of morphine

(49 methylation of morphine

28.

Q5
2&PowS (Heroin) o Sr88 (5550 (Drug) S &

«Qiore Sodhes TR 1
T SRS a?oaséoxs
@ 5058 [ ER8SS

@) Er0)S BERS
@)  Er8)S PSS

29. Pf:lg?le:id_, a finedlzg?}rder gf ;eézie@alr?ud:iﬁed 20. FOBoE, 5paS Sobal Sty Bods RYE B
piagiic, a8 proved.labe.a goot matsral loks &S S8 (Eine powder) - 28 89 6, Hod
(1) use asafertilizer SEEorr AEFHODRESS :
2  constructionof roads R &écﬁmﬂoiﬁmﬂ%
@) . making tubes and pipes (2 EEwrbhe (roads) doyeeds
(4) making plastic sacks &xmsgoen Sodokn Pheo Sasrth Buserds
@ xRS Soihe Sar08
30. Which of the following pairs of gases is mainly |
responsible for green house effect ? 30. & (Bob Ao wsod 0O @5%&“ BePSEnSE
(1) Oxygen and Nitrogen 5P MO ¢ —
L ‘8 3
@  Nitrogen and Sulphur dioxide M) eqEs $od g
% 1 Casfoniiiniiefnd Mth . @ BePeS Ddom $)8 e N5
& P
W Carbon dioxideand Methane ® =T Zed )F So0k DFF
) {Ozong gnnAmmonia « @) 645 $oBckn BRI
31.. Which of the following statements is incorrect ? 31, éa@o&; agq:egenés 2B HOTHG = ‘?
(1) : Viruses are obligate parasites. () e elge) ol Eﬁa’g}ex:.l
(2) Infective constituent in virusesis the protein @ 555@938 KoEsmde oo DIET &b,
coat. B BIrSe eFrgedn 58S SnESeos
(8)  Prions consist of abnormally folded proteins. @ﬁéﬁﬂt‘&: EORGoLTOD.
@  Viroids lack a protein coat: @ DBcHEes |PBS Sorhds SONOED.
| - | 52 arsasrease gash SrEbol s B8 o
32. Use of an artificial kidney. during hemodialysis

may result in :

(@  Nitrogenous waste build-up inthe body .

s o |
@) Higad Bowod zs,gcﬁxam- “m‘:sncesﬁ END

3 10
(b)  Non-elimination of excess potassium ions b estor &% DreFIcH0 @cﬁa"ﬁ.‘z SoRoSE
{¢)  Reduced absorption of calcium ions from ' B Gieo
tro- t
gastro-intestinal trac (© e (gaatro-mtestmﬂl) ot Yo
(d Reduced RBC production _@@Qﬁ@@ﬁ S

Which of the following hpﬁions'is‘ the most
appropriate ?

(1}  (b) and (c) are correct
@ (o) and (d) are correct
8) (a)and(d) are correct
4@  (a)and (b) are correct

@ JASTEEere aEBS Sihe
ayed® Bod HB Iy KOFSE ?
(D) (b)SB&® (c) $OTDD

@ (o) 8w (d) $BTBD

@ () %0c () SO

@  (a) S0 (b) SO
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Q5
83. Match the following hormones with the respective
disease :
@ Insulin @  Addison’sdisease
b  Thyroxin @) Diabetesinsipidus
(¢@ Corticoids (i) Acromegaly
d GrowthHormone (v) Goitre
(v)  Diabetes mellitus
Select the correet option.
@ (b © @
@ @ @ @ @
@ w ) @
® @ @ 6 @
@ & O @ G
34, Cﬂnsidei' following features:
(@  Organsystem level of organisation
(b)  Bilateral symmetry

(©

Select the correct option of animal groups which
possess all the above characteristics.

True coelomates with segmentation of body

(1) Annehda, Arthropoda and Mollusca
20 Axthropoda, Mollusca and Chordata
(3) Annelida, Mollusca and Chordata
(4)  Annelida, Arthropoda and Chordata
35. Respiratory Quotient (RQ) value of tripalmitin is :
@ 07
2 007
@ 009
4 09
36. What would be the heart rate of a person if the

cardiac output is 5 L, blood volume in the ventricles
at the end of diastole is 100 mL and at the end of

ventricular systole is 50 mL ?
(1) 75 beats per minute

(2) 100 beats per minute
(8) 125 beats per minute
(4) 50 beats per minute

8

33.

34,

35.

36.

English+ Tehigu
&s (Bob HTHE H0an = TgHos’ eXiirH.
@ =508 0 ol %6
b) Foo&S @) HoadS alyas
© ) Gi)) IEDeD
@ oo SRS Gv)  reavsd
| )  EorBOS YLD
BOGES DS DoHEKaSm.
@ M © W
O & @ @ @
@ & @ O @
@ @ W @ G
@ & @& @ @
& (8o oferolh HO8D0HSW ;
(@) HDS TN &);o;: G @Q@éﬁﬁ
b) By g
© polesstn 50D Des IBY L8 diden

& 25 hemen o) BONS VOGS a08e Skoshd)
QOB 0,

D o0, efdo, Dol
2) @@ﬁé‘@, oo, 9GP
B @0, HodF), sPer
@ =d0zr, g@;ﬂhm, S

8 AT T TxHBP B0 (RQ) Dewss :

@ 07
2 007
@ 0.09
4 09

28 5% o) 500008 ©HeHS 5 L, SaSrRS
wodod® atseds® ¢od 855 100 mL b
R}Qjﬁ @Gégoé’a &0G SE&S5» 50 mL oSSt & 50

o) SRS HHoKs Ve BHohism.
1) D8 75

@  JYRB 100 ;H

@) DWwArS 125 >y

@ QP8 50 I
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Engish
37.

38.

39.

ish+Talugu

Match the following structures with their
respective location in organs :

(a) CrypteofLicherkithn (@)  Pancreas

() ~Glissen’s Capsule () Duodenum

(© Islets of Langerhans (i) Small

intestine

@ " Brunner'sGlands = @v) Liver

Select the correct option from the following :
@ (O © @@

@» @ G © @

@ @) @ @O 9@

@ G @ O W

@ G @ G@ @

Select the correct sequence of organs in the
alimentary canal nf cockroach starting from
mouth :

(1) Pharynx — Oesophagus — Grmzard -
‘Crop — Ileum — Colon — Rectum

(2) Pharynx — Oesophagus — Gizzard —
Ileym — Crop — Colon — Rectum

3) Pharynx — Oesophagus — Ileum —
Crop — Gizzard — Colon - Rectum

@ Pharynx — Qesophagus — Crop —

Gizzard = Ileum — Colon — Rectum

Which one of the following equipments is
essentially required for growing microbes on a
large scale, for industrial production of enzymes ?

(1) Sludge digester
(@)  Industrialoven
(3}  Bioreactor

4. BODincubator

Match the hominids with their correct brain
8ize :

{a) Homo habilis i) 900 cc
(b) Homo neanderthalensis (i) 1350ce.
(¢ Homo erectus - (iii) 650-800cc
(d  Homo sapiens Gv) 1400cc
Select the correct option.

@ B ©
D G @ © @
@ G v @ @
@ v @ O
@ @ @ v o

9

'37.

38.

39,

Q5
& (Bob Joren D 4ok EIEFOS aBBEHHD.
@. 85 &5 BobwS O Som
b HBT) oD (i)  eolElreosn
(© m@éﬁ) =D aﬁcﬁf}aﬁfﬁ‘:‘ (iif) -é'.m;.faﬁ;
@ @& Koten (v) TS
BORE PR DoBE .

@ ® © @
OH @ G O @
@ @ m @O
@ @ @ @ W
@ @ O W

ER0Y SIFETEY DS grreed PEHL WETDE
SO (E5FOE BodS TAY JoHEHED.

(D B0 — «Fiorirs > wodbxdtdn —
oS, > D Bo - DY, D0, -
HbKEeEo

BB > @PBFErE — wodlnltdn —
Oy Db o ofSEsw > DY DH
Hbderto. _

(50 - aSeeE — DG Db —
I@x)ﬁﬁ%&ﬁ» — ©OoBBREEEDL — DY 5 -
SbseYo

50 — efsarsrd —» oS dsn -
©oBBREEED — D DO — DG Wi
Hbsaero

e8| BoRoorr 25850 $5r68 g Sngos

Sovis y8por 0thisE S 1Bod =S’ 5658
o508 @Bi0usn ?

@

&)

@

D =088 (Sludge) Q@Qﬁ
(2 aoﬁ@ciﬁ:ﬁ P

@ o&rearEs

(9 BOD sosxsBes

& 80b FFPLILH T8 sth $OSweaS0s’
238853 n k0.

@ e sHDOS @  900cc,
) e SatrocbradS (i) 1350ce
© SFaraggs @) 650-800cc
@ SR Ddavd) @v) 1400cc
BOES oYSRY JoHE K.

(@ () © @
@O @ @ O @
@ @ G O @
@& v @ O 9w
@ @ O G @

—
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Q5 10 English+Telugu]
41. Which of the following statements regarding | 41 Fotberol@ s SonohodS B8 B
mitochondria is incorrect ? BesgEn.
(1) Enzymes of electron transport are embedded 1) &m@ﬁ Sarere Tl doBSen wﬁg@ﬁtﬁﬁ‘
in outer membrane.
I . th 308 sodran,
(2) i:fi}l];il:;exubrane 18 convoluted wit @) 50 D6 DDEenm ZBEn FEBD Foroest
(8 Mitochondrial matrix contains single antolclinig ) SiocoR:
circular DNA molecule and ribosomes. @) DSeodaie SPBEST Holld DNA
(4)  Outer membrane is permeable to monomers 803y SO Qeﬁsﬁiﬁmmowﬂ.
of carbohydrates, fats and proteins. @) s TR TGS, S
B0B65 (DEGHE (H5F Bexss® soenod.
42,  The frequency of recombination between gene pairs 2 P
on the same chromosome as a measure of the | 42 &8 ERDP 408 any s Sogis 2935 SoGiraxs
distance between genes was explained by : rsdRigind esdogde Sogy Boreedd BedrSorr
(1) Gregord. Mendel DSBes BNITD ¢
(2)  Alfred Sturtevant D P68 Zoad
(3  Sutton Boveri 2) od@& Eslatsivilen]
(4) T.H.Morgan (3) ﬁ%;mg 33"555
@ TH 3o
43. Whatis the genetic disorder in which an individual A ”
has an overall masculine development, 18.  » ey gmm&ﬁﬁéoéﬁ %8 :}5% E.bogéo_nﬁ SO0
gynaecomastia, and is sterile ? g5 (masculine) £)8 LOA, DOFErY S
(1)  Klinefelter's syndrome (gynaecomastia) & a’amcﬁegéso {(sterile) daotnod ?
2) Edward syndrome 1) B09g5 @ BolE'S
(3  Down’ssyndrome @ a‘f’é@ ROlED s
4  Turner’s syndrome ® @ cihaég ol
| @  &5S B HolE’H
44, The shorter and longer arms of a submetacentric 44,  BETherD oS8 B Es) Fd SBC SES
chromosome are referred to as: , £
; 1 - gheped & Dbore "2:5"&05&3&3.
(1) p-arm and g-arm respec ?,ve v () SE8 p - ehesn OH g - Loesisn
2) g-arm and p-arm respecn*frely @) B q - ghesssn SO p - dHesS
(8) m-arm and n-arm respectively @)  SEBe m - ghasdin SoBAk 1 - ghesso
(4) g-arm and l-arm respectivaly (4} LB5Te o - E{ﬁ&&m L8650 1- 953236{1‘1)
45. Which one of the following statements regarding | 45. HHod IHes® SobEsn wdosy 0S5 8
post-fertilization development in flowering plants Sowohod &K (Kod aﬁé%mgﬁ DB $BRBoSE
is incorrect ? oids 7
(].) z}rthG dﬁ‘rﬁlﬂpg nto E.thryﬂ (1} Eﬁﬁ(ﬁ'ﬂé éﬁ@ Boore :%)% Bothidod
@  Central cell develops into endosperm 2 BolSHmo wobhs Htsore g%)% Boosot
(3  Ovules develop into embryo sac (3) womren DorStdomr 58 Botheron
@)  Ovary develops into fruit @ oomdho Soore HB Jothdod
46.  Which of the following features of geneticcode does | 46.  £5°0&J0e5 DNA Ssned oxoe & (8ob 2 a3
allow bacteria to produce human insulin by Bo880 ofpo e erEBciE Hod SwegKd
recombinant DNA technology ? 2050 FoLBEyo ?
() Geneticcode is redundant 1) oy HoBso BioKoEs
(2)  (enetic code is nearly universal @ sy HoB&Eo S ASESH tﬁfééﬁu
@)  Geneticcode is specific (3) ey BoBdo VGG
4)  Geneticcode is not ambiguous @ ey o880 wodiHgedR o
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47, w -Tdenitify the cells whose secretion protects the lining | 47. ém;ﬁdﬁ:—'ﬁ:!‘b (gastro-initestinal) Fred DD
of gastro-intestinal tract from various enzymes. ' DoBSHUB08 & S Drsss oot -
(1)- Goblet Cells. . o)) ﬁeﬁgj- Kemoen
@  Ozxyntic Cells @ e8sE dwre
3) Duodenai'ceﬂg (3) eso|BNore Begeen
- @) ChiefCells . @ 2OF gerew
g 48. BOSPHOH SHEY Seren oD Swe TenHod o
48. . The ciliated epithelial cells are required to move = : o el !
-+ *~garticled or mucus in a specific direction. In IHE ST ow. - HrEHAST & Lwoew
~huimans, these cells are mainly present in sooggorT S ‘#053363' : )
(1) Fallopian tubes and Pancreatic duct 1) ‘a"@&gjdﬁ’s ravﬁ’aﬁwm BBas0 gjﬁ’ &g
“(@ Eustachian tube and Salivary duct @) L’.gswgm (eusta.clluan tube) 300G
3  Bronchioles and Fallopian tub a0 S
( ?{mﬂ o {Z.Iplall_ o (3) @oé&m’% 500650 FS*HT Treren
(4y  Bile duct and Bronchioles @ DEES ES> HOK Eroddrses
49, The concept of “Omnis cellula-e cellula”regarding | 49. Hedgesd® Sowodod) “edT Eﬁ&gﬂ“—a—ﬁeﬁag&ﬁ’
cell division was first proposed by : REEOBRY S0OZTT [HHPBOVB ;
(1) Theodore Schwann 1) BIrEE IS
(2) Schleiden @ W8S
) Aristotle @) obPhHS
(4)  Rudolf Virchow @ Swd) Doy
, 50. 698 efiss oxoe af &5 wmde WEDLeS DNA
50. DNA precipitation out of a mixture of biomolecules \
_ ; . - B @5god Doy :
can be achieved by treatment with : ;
% ik et 1) - S0a8dS afoed
) eaerhane | @ K56 eRPSE D S
(2) Methanol at room temperature ) égm'éﬂzé gjaa S,
(8)  Chilled chloroform @ mﬁg@ngﬁg ;
F J,I anol
& e 51. ardesy Oovy $50S° S'BRTSH. RotH DB
51. Which of the following is a commercial blood 20 ?
_ ¢holesterol lowering agent ? 1 &8 |
T @) Statin @ (RYEIS
(2). Streptokinase @ BaEd
+(3 Lipases - @ PERYS A
(4). ‘Cyclosporin A 52. 200 dren 3ol Seardo BB 2ohBoNS,
> QoErEns’SH. HI8 setmo
52. Pinus seed cannot germinate and establish D ab 8dolg Lwroos® ey Sirarar) KA
.. , Without fungal association, This is because : ' oSG, '
" (1) ithasobligate association with mycorrhizae. @ =6 orer H08Jad Nag g 508y €O
(2) it hasvery hard seed coat. Oio0éanoé,
(8) its seeds contain inhibitors that prevent @ o0 D¥o eoktnd Db JT¥Ssews
germination. EOA alnotnob. (
(4) its embryois immature. @ B hotto wHBdEo. |
|
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53.  Extrusion of second polar body from egg nucleus | 58, w0 SoiEo S0l Boksd (EoSSrsn SPENER
SRR oo APt et ?
(1) after fertilization (1) $e Ao $Sard
(2)  before entry of sperm into ovum @) ©olsnsiIE HiEtnsn HS80:58 Snoth
(8 simultaneously with first cleavage (B Dosd DBFES0S Doexn
4  after entry of sperm but before fertilization @)  HESS (PR0DS Shars = Hobstards
S0t
54. Variations caused by mutation, as proposed by 54 é%ﬁs & 195 [HBFB0S cHBSETe $OS0rP SOF
Hugo de Vries, are : ) ousgoes Al
(I) random am:'? djre-ctmnlesﬂ D o 5& 2) €% S0P BiEv HEDED =%
@ eslland duechial @) ey (small) 5005k Berdss
% Emplanddiseioniaes @  Re)s» (small) S8 BEHELID D
55.  Purinesfound both in DNA and RNA are : 55. DNA £0a5» RNA Sofod@i&*S 85ai dirgdSen :
(1)  Adenine and guanine () o858 Hbckn 8
() Guanine and cytosine @ S oo RS
3)  Cytosine and thymine 3) ?‘Eesa RS 5'1’5@5? @&‘5
(4)  Adenine and thymine @ 8IS Hodcin DS
56. 3F0%% 8D80R wolgr c0eBS Releasi
56. Select the hormone-releasing Intra-Uterine é : %OL - Eiormone SRk
Pyt Intra Uterine) 3880roic Beoddiw.
(1) Multiload 375, Progestasert ) Zi%ia . @@aﬁ'g
@)  Progestasert, LNG-20 (2) ;ﬁa?ﬁ’?\}éé ng;% 475
(3) . Lippes Loop, Multiload 375 ©) S0P 97, o0
@ =) LNG-20
4  Vaults, LNG-20
| 57. od 3mo¥pd® Hdmes HGErIE e sewo
57. It takes very long time for pineapple plants to H&ad06. ée)@a"nono SoHgose it
produce ﬂo‘i:frers. W'Ch ai:nmhl:nation of hc}rrgonfzs @@Iﬁ:—iﬁm 20D, HOPEHO DOVEIE D aﬁﬁﬁe&%&
can be applied to artificially induce flowering in 4 y 5
pineapple plants throughout the year to increase QERFS0R BSPAFD 1
yield ? D B80S bt pe"IRS
(1)  Gibberellin and Cytokinin 2  20DS Hodckn ofPRE o
(@)  Gibberellin and Abscisic acid @) DOEOT HOcw wdPRE exo
@  Cytokinin and Abscisic acid @ ©§)S oo IPOS
(4)  Auxinand Ethylene 58. "5 508 o000 & (Bod IS 2B
| - . ROESa 7
58. Which of the following is true for Golden rice | ) @BeS fmon ah) 5 %908 oK &i?&}éé) & =5
1 It is_ pest re'sis?:ant.:, with a gene from fomre B (HEEES S,
Bactllus thuringiensis. -
, + @  efargoatd sirso &R0 0958
@ It is drought tolerant, developed using S GBS 4 15BEBEES St
Agrobacterium vector. DO, B wergrd HBT'G aged.
(3) It has yellow grains, because of a gene O 6":_“ SO0l s @Sﬁaéégdo
introduced from a primitive variety of rice. D08 58 SRoptolb Aoz SDAGKNOL0R.
4) ItisVitamin A enriched, with a gene from @ EPHAS Dol e =igHE’, 3O LS
daffodil. A ﬁ?ﬁ@%m BDAGotno8.

collegedunia:s

India’s largest Student Review Platform

-

T



13

[English+Telugu | Qs
59. Select the correct group of biocontrol agents. 50, e;@;hég@&*@ DBos BoRoHoDD HOER S
(1)  Trichoderma, Baculovirus, oNRY DOHESS®.
Bacz:lius th‘umnfgfensz‘s ' 1) é@gfﬁﬂg, arie® 365, BO9S HOoHTMYS
@  Oscillatoria, }?h‘z.z:?bz.u.m, Trichoderma @ &% &%atr, 55 Baso, ngaog
8} Nowioe,Azspuiisnm, 3 w8 @d)BEAb0, AmdRFOEIEE
Nucleopolyhedrovirus @) &=’ £)CEAG, Egji E&
(4)  Bacillus thuringiensis, Tobacco mosaic - @ EDYS Go00SABYS, e mﬁ“‘mg 2%,
virus, Aphids P
_ _ 60. BOGEHY DYED V0L oX.
60. .Select thfhmrrect ]?ptl?n' ' D 11 Sobcko 12 3 wde Sydes soome
(1) 11%and 12 pairs of ribs are ﬂonnecteq to aﬁ%ﬁ P N T Y e
the sternum with the help of hyaline v,@ %
cartilage. 2 B8 DS a8 SDID DY wasnE OB
(2) Eachribis aflat thin bone and all the ribs o DB Qe Hos® 58 38y FresEr
are connected dorsally to the thoracic LoDk At grod® &5“’%&} é&n@go::n
vertebrae and ventrally to.the sternum. (3) 7w 59@'&%5&5, Lot sysder égtﬁ&?o@g
(3  There are seven pairs of vertehmstern_al, SoBc5n Both wie 35@@5 ﬁé;gémmgm
three pairs of vertebrochondral and two pairs 3 9. 10 s & Sore &EHE BoBFen
of vertebral ribs. : @ 5 S MU ﬂﬁ@é& A @ P
@  8®h, 9th and 10% pairs of ribs articulate | 61 & (Bod D OB (contraceptive) HEBS® HFEYH
directly with the sternum. S sotnod ?
61, Whicﬁ of the following contraceptive methods do ) o585 Barrier) 5‘%"‘3’ Wéﬁéé IS o,
involve a role of hormone ? Soo|Ben
(1)  Barrier method, Lactational amenorrhea, @  CuT, Sr@en, oEES8S sPoltRRR)
Edls | @ Erides, 0ESIE oL, ks’ $5e
52; g:}:lT E]';lls, Emergency cuntraceptwgs @ e:'ﬂé 555 OB 569950", Soigen, ©SgHBS
3 ills; Emergency contraceptives, Barrier S
methods | | SO RGN
(4)  Lactational amenorrhea, Pills, Emergency | 62. @083 (MBErS)E* 26 Hamen e 3o
contraceptives Beod Hien Ko S Sosbmo wdBIH
62. In Anfirrhinum (Snapdragon), a red flower was Fy & iHerd) (pink) Ry JbiﬁJt;{gm. roerd) &’ﬁ?
crossed with a white flower and in F; generation, Paryen o Ik Koo JodGio ebdIHD Fy
pink flowers were obtained. When pink flowers & Bensh, S0y bk Heed Boid @ane_n He
were selfed, the F, generation showed white, red €5 2ot o <
and pink flowers. Choose the incorrect statement g:;évg_f.n expan; 6 ;D sagaféﬂ SR
from the following : _ R HOGHE =l el Hodod ¢
(1)  Pink colour in F; is due to incomplete O I 66 _ﬁamﬁ) Sorfogs s=8mo @éo‘ﬁ?g
dominance. orPBER0
@  RatioofFyis  Red): 7 (Pink): 7 (White) @ Fy & {8 - (36D) 7 (heed)
.I. . . 1
3 Law cff Segregation does not apply in this 2 ey -
experiment. 4
(4  Thisexperiment does not follow the Principle @ & PErKos® Hign brgodin 5o
of Dominance. @ S HOSD DIPGEE VEEoBod eitoh
63. The correct sequence of phases of cell cycle is : 63, o SE0SHD 5% BOMS (SR :
H G —=2G->8§—->M
@ G-8-26G-M @ G, oS-G, ->M
4 M-o2>2G—-3G—S @@ M->G —-5G,—8
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65.

66.

67.

68.

14 English+Telugu]
Concanavalin A is 64, ERSordS A oI af .
(1}  anessential oil (1) Dolof Boo
@) alectin 2 883
(3) apigment @ & B0
(4 analkaloid 4 sopranl
65. & (808 BP0 T oErod® aEdiHEY :
Match_the followipg_ organisms with their @ Der () aer Sesoen
respective characteristics : b  aro g@ i) @35;6 Sesren
(8) Fila @  Flamecells © olersam (i) o g
(b) Bombyx (i} Combplates @ LSoat (i) mgb$¢5
(©  Pleurobrachia (iii) Radula o ex
@ Taenia @) Malpighian $OG% YR DoIHEKoL.
tubules =

Select the correct option from the following :

@ (k) (© @
O @) m @ @

@ M (© « <2§ Eii} (v) () g
s a i @ G @ G G
il @ @ @ O
@ @ ) G @ _ :
v : 66. wdoy Sdred JBOILDHE J S (PSreo
3 GG @ G @
@ @ ® O (ROSTERKD H01esE*B (adopt) S0 7
M 100% ;BH80 Lordm (represent), E.’)é_%étﬁmo
What map unit (Centimorgan) is adopted in the B0HY Vol aigde ey Srovdd &
construction of genetic maps ? 1B55mea0
() A unit of distance between two expressed @ 1% ar5r80 Sedd, BRrtihe Hb elxde
genes, representing 100% cross over. Loths 5008 o8 (BSmea0
2) Ahrunit of distance b:itwelna; genes on @  50% 3EHED SrO5R, S B3rFSe Db
o cA on:f:so?zs‘, TPMEE: :g 6 cross over. g Sotfs GrT08 e (S5Pm0
unit of distance between genes on . i
chromosomes, representing 50% cross over:. 4 10% éﬁﬁﬁ@? {5 (represent), a%%ﬁéeao
4 A unit of distance between two expressed ?Oﬁ;ﬁ Bocs 8RR 50665 dﬁ:ronb??‘:& %8
genes, representing 10% cross over. @sxrea0 |
. & Dok 5 B 5 3
From evolutionary point of view, retention of the 67 j@ﬁga Hg}g 5&‘@‘ g « G; Z&__,g fEws, &
female gametophyte with developing young embryo odrideio, al¥ ddhudop Sodstoo
on the parent sporophyte for some time, is first GoLerR) H0es Sary swothre HAS® Kehlow
observed in: (1)  &SrRen
(1)  Mosses 2 B8&Sen
(@  Pteridophytes &) @ﬂé&éé&i‘m
(3) Gymnosperms @ ONBH{ew
@ layerworts 68. HOTD Iogesdy BenHio.
Select the incorrect statement. O S SDSFS &) Ssen (purelines) THEERS
(1)  Inbreeding is essential to evolve purelines POEPBIRND BT
in any animal. @) oo (Hudtod® SIS wosPd wlgdHen
(@ Inbreeding selects harmful recessive genes ‘-‘) G‘S‘?geﬁ_:’d‘}é)‘? Fonoddn DB
that reduce fertility and productivity. SBNES Sihoron
(3)  Inbreeding helpsin accumulation of superior B wodPHusdes® Hod a33en JoNBon
genes and elimination of undesirable genes. asErKo 89 2890 &of Haean
4)  Inbreedingincreases homozygosity. @  @of(Heeddsn Sookufes Dobod
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69. Tidal Volume and Expiratory Reserve Volumeof | g9, 2.8 |SorseH® (Athlete) S BES sremy S0
an athlete is 500 mL and 1000 mL respectively. oo Besbe Sy $%%m 500 ml, KoBdsn
What will be his Expiratory Capacity if the o el S e
Residual Volume is 1200 mL ? 100050l sicon; Do SEifsn 1200 M1 Aot
1) 1700 mL S QRS E':)ﬂéogegaﬁw (Capacity) ser ¢othd :
2) 2200 mL () 1700 mL
3 - 2700 mL 2  2200mL
(4) 1500 mL 3 2700mL
_ _ + o @ 1500 mL
70. The Earth Summit held in Rio de Janeirc in 1992
was called : | 70. 19926 &> & RO°ES BAS 4irBHTr SSEITo
(1) for cnnieirvzion of l;.iodévergity and (Barth Summit) 898 2enHORRs :
tai 1lizati its ts. .
pustainiah & UETTAATIoN TS Denents. 1) S5306 5065 Bk D DS
(@) toassess threat posed to native species by sl Ble) At dEEE
invasive weed species. (sustasnable) SRomhHo@R R0
(8) for immediate steps to discontinue use of @) oEbe oo SwHo Dy zﬁgﬁ)cﬁj PEOWH
CF(s that were damaging the ozone layer. E00 |H5rtedy Sodod Sfevitate
4  to reduce COy emissions and global (8 L£5°§ FES 603 CFCo o seR
DAIEE: FoRoSPRE Bobd BB SRS evlifden
71.  Persistent nucellus in the seed is known as @ CO, ﬁc}giﬁa’ma‘aﬁa, fjfa:é" aﬁaéoﬁ;&; éﬁoiﬁom-
@) Perisperm 7L DEH05°D B0 woarod: Lmerod)
@  Hilum DB0ETE ?
¢2) Te_gmen 6)) ﬁgﬁ‘}dm
(4) Chalaza @ D&
72. Select the correctly written scientific name of (3) eodEHSEn
Mango jwhich was first described by (4 Eevu
Carolus Linnaeus :
- (1)  Mangiferaindica Linn. 72, £6%R DFoot VB8NS “Srdl” EnE) TR
(2) Mangiferaindica R0 Bendyain ¢
3 Mangifera Indica (1) Mangiferaindica Linn.
@)  Mangiferaindica Car. Linn. @)  Mongiferaindica
B3  Mangifera Indica
78.  Select the correct sequence for transport of sperm (4) Mangiferaindica Car. Linn.
cells in male reproductive system. :
(1) Seminiferous tubules —. Rete testis 7. QR @éjééﬁ 555‘356 QOGS DiETere 0D
— Vasa efferentia — Epididymis BN oG,
— Vas deferens — Ejaculatory duct 1) 'ﬂ’oL§‘9@5¢5§ TPEwe — 88 5%5 -
— Uréthra — Urethral meatus HETDE — JDERHT — HETE —
(2) Seminiferous tubules — Vasa efferentia FoBTEED (BHDES0 — BlES Sred
—>UEpLTd3rmls — Inguinal canal @) ia'ﬁtgﬁwgﬁsg aﬂ_i?éﬂx: o HlfaodEen —
i | IHEZWS — SORKS S — [FHES
(8) Testis — Epididymis —> Vaga efferentia ® a’m?’.% Sp — IDEEHS — HETOE -
— Vas deferens — Ejaculatory duct LY i 2\‘56 5
—> - Inguinal canal — Urethra DETEE — ‘%Eéﬁgm _:':‘DES AL
—> Urethral meatus — (Y0 — cHoBES ok
4) Testis — Epididymis — Vasa efferentia @  SopEn — IBERWS — BETDEw — 66
— Rete testis—Inguinal canal — Urethra 839 > BORHS Bed — ESEES
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74.  Under which of the following conditions willthere | 74, % 1808 a@'@g& B S mRNAS® #5559
ERT:} ;Eange in the reading frame of following Sleodns® Sy S0t ?
()  Deletion of G from 5t pogition (D 53 FPool G B BoERgHo Basnes
(2) Insertionof A and G at 4th and 5t positions (@ A DB G o 4 00 5 ﬁ;mme’iﬁ
respectively @3&%}&3
(8  Deletion of GGU from 7th, 8th and 9th @ 7 8x08d 95 Predod GGU L Koo
positions Ba%os ,
@  Insertionof G at 5th position @ 5% @;K)Dés G % B3 b
76. Which of the following protocols did aim for | =5 55@58
reducing emission of chlorofluorocarbons into the % 5;& . éﬁ%g f‘*ﬁfﬂédﬁ X SRR
atmosphere ? RoEE VBBSLIH ¢
() Kyoto Protocol O g @SS
(2)  Gothenburg Protocol @ Glaf S
(8) Geneva Protocol 3 Bee (DS’
(4)  Montreal Protocol @ Srolfond S sS
76.  Colostrum, the yellowish fluid, secreted by mother | 76 5’5“{15 22t Tots Sered® 80k 53 ?@’@53:
du.r:ingth? initial_days nflactaﬁnnilsvery egsential od o WY P WSk AL A SSpwd
toimpart immunity to the newborn infants because oer ©NRE5D. JothIEKo8, £3S° 1 dosron
1t contamns :
(1) Monocytes O e
@) Macrophages @ b
@ Immsnsesbulini @  =ngSTagdS A
@  Natural killer cells @ Qe 8gb Swren
. . e, =3
77.  Conversion of glucose to glucose-B-phosphate, the | T BS"ORRE’ MEEES rpsE-6-3-8m Srg)d T2
first irreversible reaction of glycolysis, is catalyzed Blaly @563[&&535%@53 585555 ﬁ[;é_]ﬁoa’: &0 :
by : 1) EEIE '
(1)  Hexokinase @ =38
o @ FEEES
(3) osphofructokinase @ woSE
@)  Aldolase 3
78.  Which of the following factors is responsible for 78, & ol OSE DB ey Sl SodS BRI ?
the formation of concentrated urine ? V) SwEdousd 65 &5 gPos®
(1) Maintaining hyperosmolarity towards inner (interstitium) eSS @@ﬁéwaég b
medullary interstitium in the kidneys. DeS0oBoHe:
(20 Secretion of erythropoietin by 9 A ters 5 08
Juxtaglomerular complex. @ E:ggém o “}Qggo aa@&m&ﬁ
3  Hydrostati dur
3 ﬁ]{r ! t‘}iin, ic pressure during glomerular @ ﬁjﬁ) - SosEn e ﬁﬂ%@é o
(4) Low levels of antidiuretic hormone. @ 208Eckrods ;335%5 éﬁr‘s a;coatn
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79. Which of the following glucose transporters is
insulin-dependent ?
(1) GLUTID
(2 GLUTIII
@ GLUTIV
@ GLUTI
80. Selectthe incorrect statement.
(1) Inmale grasshoppers, 50% of sperms have
1o sex-chromosome.
@ In domesticated fowls, sex of progeny
- depends on the type of sperm rather than
"(33 Human males have one of their
sex-chromosome much shorter than the
other.
(4  Male fruit fly is heterogametic.
81. Match Column -I with Columm - II.
Column -1 Colunmn -II
(a) Saprophyte (@  Symbiotic association of
. fungi with plant roots
" (b) Parasite @  Decomposition of dead
& organic materials
© Lichens (i) Livingon living plantsor
ek
(d Mycorrhiza (iv) Symbiotic association of
algae and fungi
Choose the correct answer from the options given
below : .
@ ® © @
O w @ @ @
@ @ @O @ @
@ @ @ a @
@ © w @ @
82. Which one of the following is not a method of
in situ conservation of biodiversity ?
() Wildlife Sanctuary
(2 Botanical Garden
{8)  Sacred Grove -
(490  Biosphere Reserve

In some plants, the female gamete develops into
embryo without fertilization. This phenomenon

1s known as :

(1) Parthenocarpy
(@) Syngamy

(3) Parthenogenesis
4)  Autogamy

17 Q5
79. & Bod D KpSE (rRREE) DS egrdore |
@oérow ? .
() GLUTII
@ GLUTIN
® GLUTIV |
@ GLUTI |
80. RO wgagid HB0Hw.
(D) K Aggrdod® (Grasshoppers) 50% |
Higgerod® Dol (' 2ra%5n Gotith
@ »oSed 5% SoexXod® Dorf dobes ok
esgronr svfHoae NIEHND S50
SErEHt
B HBwes® a8 Do (E53rABS0 ISES
8T DGre eotnod |
@ Sl [eeh, DRSSO Destiito
8L 5SS -1D S -II & =855508 :
S - 1 BB -1
@ TowFd () I 58 sdogre
BdNs Brardo
b Soiy £9 i) SIS Dolded
h SerTpes HRDFBEO
© 838 (1) £DoDuing) Foen Sor
208D ddoito
@ 2dosreo (v) Ieren, 3dogro
$EE8H Beedo
[BotS abwaS ool SOGES SEPGETRY,
QoS o0 ¢
@ ®m ©© @
O @ @ @ @
@ @ @ @ G
@ @ @ & o
@ O @ G o
82. & (Bob RS HO SIS JyAch HOBEes
DpPen 29 7
O SSoe 56858 oo
@ &S rras
(3) DEE 18 (Sacred Grove)
@) @Ryl Sety
83. &0 IoHod® @ S0 Heso Heobtde ToSHord
Hodom @élcﬁe)% Jogedob. & AR
DoEXE 7
1) IhEHodso
2) Nocing JoToriian
B) olag =958
@  BoHotoSBriEn
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Qcollegedunlaa
India’s largest Student Review Platform

—



Q5

84,:

8.

86.

87,

What is the direction of movement of sugars in
phloem ?

(1)  Upward

@  Downward

3)  Bi-directional

4)  Non-multidirectional

Match the following genes of the Lac operon with
their respective products :

(@ igene ()  B-galactosidase
(b) zgene (i) Permease
{c& agene (iii) Repressor
@ ygene (v) T}ansaeetylase
Select the correct option.
@ O @© @
L @ © @ v
@ @ O @
@ @ v O @
@ @ ) G@ G

Match the following organisms with the products
they produce :

(@) Lactobactllus @) Cheese
(b Saccf}c{rumyces @ Curd
cerevisiae
(¢  Aspergillus niger (i) CitricAcid
(dy  Acetobacter aceti (iv) Bread
vy  AceticAcid
Select the correct option.
@ G © @
O @ v @) @
@ @ w & O
® @ 0 @
@ @ & w0 @

Following statements describe the characteristics
of the enzyme Restriction Endonuclease. Identify
the incorrect statement.

(1) The enzyme binds DNA at specific sites and
cuts only one of the two strands.

(@) The enzyme cuts the sugar-phosphate
backbone at specific sites on each strand.

80 The enzyme recognizes a specific
palindromic nucleotide sequence in the DNA.

@  The enzyme cuts DNA molecule at identified

posgition within the DNA.

18

84,

85.

86,

87.

[ English+Telugu |

D Smarood® o Sod BE DB ?

O IS

@  ([Bod BHSE

3 oo

4 2o Non-multidirectional)

orf L.50S G0l & (Bod wilingHo ;d T &
iy rod® mEdtHSn.

@) iekgd O  p-rrosiREE
b)) zealogd @)  GGheE
© aedygd (i) @B
@ yaygR ) ErSHIRBTE
HOGHS oD NoHE K.

(@ B © o
@ @ @ @
@ @) @O G @
@ ) G @O G
@ @ @) @ @
& 18od BHod 78 T rsred® adlthin.
@ EDRE 0 oE
(b) FEEDHES ROJD () D
© eged s @ dHzespo
@ odSgs odd (v) BE

@) Rfsepo

RO DR Ao oK.

@ ®m @ @@
H @ G G
@ @ @ < o
(3). i @ @)
@ @ G ¢ i)

& (Bod aegmgen DRES Q08 ErESHE ISEHY
ool @ﬁlaﬁg‘@p&m. petal-chd! aga;g:é: tooded.

(1) % 253 DNA &° 285 a;:ac@s 20RSH
Both DSed® 28 asordd 6508,

@ B8 FSSH DY o /P FRYS
IPH0ES® & 0B HES athihdobd.

@ % 2585 DNA & 28EHs r0olE nE
BB TrBE SHIESEeR H8:08.

@  DNA choth 1980583 (identified) Bidos®

DNA 005 & 3585 oo,

T
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88, Which of these following methods is the most | 88; . nga g);;,-uaug;,és AT Kx:g%cﬁjos N a’)muuwa}z&
suitable for disposal of nuclear waste ? Feoho eﬁr;xﬂﬁ)é mm &80 @D&} 9
()  Burythe waste under Antarctic ice-cover @) R sotreSE Sohe? o %@
2) Dump the waste within rocks under deep ® %mg& @-5@;& SBE @“ca“g:éa D‘E;)@C)Cﬁ
oeean aaédﬁwéa S
) Bury the waste within rocks deep below the -
©) Eﬂ’s s:;?':.nem n P 3 ééﬂﬂ&&&f:ﬂ éﬂaé&mﬁ;:wq; é‘s’w év&‘: dé?é&
: 5 So! N8 E’Jtﬁﬁ &
(4  Shoot the waste into space @ ::chzg ‘%} (eesiio) &%
89. 53¢ gbozﬁmcﬁzﬁ EELL é:ﬂﬁe:a(ESTs) &2
89. Expressed Sequence Tags (ESTs) refers to : Bo i’,)&')“o:::r
()  Palypeptide expression o _ “’:‘ﬁ; & éﬁéﬁﬁ
@  DNApolymorphism @ DNADSOUrSS
(3  Novel DNA sequences @ 55 (Novel) DNA |55me0
(4)  Genesexpressed as RNA 4@ RNAeor $8800808:% (expressed) esiyden
80. What triggers activation of protoxin to active Bt 00. uH OB @55?\'3@?33 58 BT @60@%5 )
toxin meBacﬂZus thuringiensis in boll worm 7 Ferd S Bcserboms Bi r8)Sm EF6HE
(1)  Moist surface of midgut Lﬂﬁ%}@ga 2 .
2  AlkalinepHofgut - ) &Er‘iﬁﬁs& az’n ﬁo:ﬁéem
@)  AcidicpH of stomach @ S Sod sspH
(@ Body temperature @) dopdabo G ey pH
|: o @ s e
91. A hollow metal sphere of radius R is uniformly
charged. The electric field due to the sphereata | g7 5% g B Mg a;g@‘dém R Ko, S%bam
distance r from the centre o @S%éa‘ba mosalte. ﬁ‘ﬁ@ ﬁo@m Sooll T
(1) zero asr.increases fo;:' r<R, decreases asr BrS3net Ko g}cﬁggﬁ Q_éfm
N increases for >Rt | (1) <R JBHS ©F) 00csw v > R (8%
(2) zeroasrincreases forr <R, increasesasr r & & ‘.;g Ha0B S
increases for r >R : ' | .
' \ @ r<RasHSE Lo Hdcke r>R el o
(8 decreases as r increases for r < R and for & s K508
r>R
- : : ( R 500805 r > R 88es?
(4) increases as r increases for ¥ < R and for _(3) c& mu& (= o R Ak
r>R @ r é’s n::cfarfaé'ao&: (r < R $odasen
r > R &8H0e)
92, Which of the following acts as a circuit protection
. device? 92, :oti:ﬂgéeﬁeéa HO580T $8880 S Bod TS 2B ?
1)  inductor (. aocééﬁ
(2) switch (2) 2355 3
@ fuse @ g
(4  conductor 4 Sougb
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93.

A solid cylinder of mass 2 kg and radius 4 cm is

. -~rotating about its axis at the rate of 3 rpm. The

95.

96.

97,

torque required to stop after 2w revolutionsis:
) 2x1073Nm

@ 12x1074Nm

3 2x105Nm

4 2x10-Nm

a-particle consists of :

(1)  2electrons, 2 protons and 2 neutrons
@)  2electrons and 4 protons only

(3) 2protonsonly

4@

2 protons and 2 neutrons only

In which of the following processes, heat is neither
absorbed nor released by a system ?

(I) adiabatic
(2)  isobaric

(3)  isochoric
(4  isothermal

The displacement of a particle executing simple
harmonic motion is given by

y=A,+ A sinwt + B coset.

Then the amplitude of its oscillation is given by : -

@ ya? +B?
@ A2 +@A+B)?
@ A+B

@ Ay +VAZ +B?

In the circuits shown below, the readings of the
voltmeters and the ammeters will be :

100 iy 10 O Io
e AAAAAS > :
10O
W— & Ay
[ I
10V 10V
Circuit 1 Circuit 2

L V=V, and i, >i,
@ Vy=V, and i;=i,
@ Vo>V, and i, >i,
@  Vy,>V, and ;= iy

20

93.

94,

96.

97.

| English+Telugu|
2 kg BS50°8 H0cI 4 cm LD EORS o
3P JpHIW S5 efSn egrdore 3 rpm T
SEPS ([P,  2r Oere Soxs B
sare0d) Hedd Bhch nody (&) :
) 2x1073Nm

® 12x1074Nm

® 2x10°Nm

@ 2x107%Nm

a-Oe0) EDAKYOES *

L 2 DO(SFRow0, 2 (Frerdowo  HoBaw
2 Somgléoridoen

@ 2 Jogrden SHdun 4 @rerien SeEh

(B) 2|Sreroen S

@  2Ererden OB 2 Smggrden Sm(Esh

& (8oh (HBchos® BRoHotsh a8 B i
[HiSrosEo el Hte Sahilo ™D BahH ?

(1) Ro°gs
2)  5505hes
(3) Ho580w
@ 3y

kTt 1 ﬁ?@é&é Ferdadn 30‘50@%:-26& a8 o
ﬁgﬁ@c%m

y=4Ay+Asinwt+ B cosat

wond ol oS H8S !

) Ja? 4+ B?
@  JAZ + (A + B
@ A+B

& Bol HrdS Sochives® Foplowd bk
wabe Blorben S :

10 i

w >

%

11
| |

10V
Podbadn -1
(D V;=V,5%80m i, >i,
@ V=V, 08¢ i, =1,
(3) V>V, 50805 1) > i,
@ Vy>V, Sbckw iy=iy

-

T
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98. = A parallel plate capacitor of capacitance 20 pF is

3

99.

100.

101,

bemg charged by a voltage source whose potential
_ is changing at the rate of 3 V/s. "The conduction
“ eurrent through the connecting wires, and the

displacement current through the plates of the
capacitor, would be, respectively :

(1) 60 A, 60 pA
(2) 60 A, zero
(3) .zero,zero

(4) Zero, 60 I-LA

Body A of mass 4m-moving with speed © collides

with another body B of mass 2m, at rest. The
collision is head on and elastic in nature. After
the collision the fraction of energy lost by the
calliding body A is:

8
1) 9
4
@ 3
5
® 3
1
4 9

A force F'= 20+ 10y acts on a particle in y-direction
where F is in newton and ¥ in meter. Work done
by this force to move the particle from
y=0toy=1mis:

@O 5J

@ 25d
3 20d
@ 30d

Two particles A and B are moving in uniform
circular motion in conceniric circles of radii
r, and rg with speed v, and vg respectively. Their
time period of rotation is the same. The ratio of
angular speed of A to that of B will be :

() vy:vp
2 rgiry
@ 1:1

@ ryirp

21
98,

101

100.

Q5

20 uF Edodin OAS 6.8 $3rost So¥ 5800

3 Vis Bt THps Seodd) ST asgsns®
DeigreaBesD TS Sikes wroe BHIFRY) $5%
DS Farsesin Hddin Deserbor ) Lgod

DR (HareRned SBaBre

() 60 A, 60 pA

(2 60 pA, oy

@) Ty, oy,

® o, 60 A =L

Ty,

4’ (BB50e8 Ko o8 5B A, u é&gﬁ @acm%mo
o’ S8 Ko WO Yore @Ry S B &
OB Sogrsod SPIrED WOLSD.. HPirESD
écgé DTS BBV S A SShyons &

8

® 3
4
@ 3
5

@ 3
1

@ 3

F $rgoSod®, y HotrEest éﬁ; 2.8 pedn

F =20+ 10y .8 Sea35003 y-&%ﬁs B [RS8, wond
Seasoodd y = 05008 y=1m % 8O0 & Dol
DS B

O 5J

@ 25d
@ 20d
4 304

HEED FHyaeses Mo ok Dot Seen,
A %0850 B, 1y i Hodcko ry aﬂéfi‘ﬁmm Ko D% Bols
@Né‘ v, F0BS50 vy Stoos® $tdme éﬁ:w:‘ﬁaﬁg_&)
& |ghdoe BPe Hgighen Bardtn. eansd A SHBcks
Beo S8 Sbe 998 :

(1) vy :ivp
(2) rpiry
@ 1:1

4 r,:rp

and

-
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22

102. Abody weighs 200 N on the surface of the earth.

103.

104.

105.

How much will it weigh half way down to the centre
of the earth ?

1) 200N
2) 250N
(3 100N
@ 150N

A small hole of area of cross-section 2 mm?2 is
present near the bottom of a fully filled open tank
of height 2 m. Taking g= 10 m/s2, the rate of flow
of water through the open hole would be nearly

(1) 8.9x10-6md/s
2) 2.28%x10-6md/s
(8) 6.4x10-6md/g

(4 12.6x10-6mi/g

An electron is accelerated through a potential
difference of 10,000 V. Its de Broglie wavelength
is, (nearly) : (m_ =9 x 1031 kg)

() 122x10-12m
@ 12.2x10"4m
3 122nm

4 122x10"18m

In a double slit experiment, when light of
wavelength 400 nm was used, the angular width
of the first minima formed on a screen placed 1 m
away, was found to be 0.2°. What will be the
angular width of the first minima, if the entire
experimental apparatus is immersed in water ?

{:l"‘water =4/ 3)

1  0.15°
2  0.05°
3 0.1°
4  0.266°

J Eng!lsh+Te|@u[

102. g aSbdodnD a¥ é.ﬁgﬂéﬁ;_ w&osy 200 N.

103.

104.

105.

THEFoIB.

650BoRn Dok g ToSsn D Ko LrSost
R ) Nod ?

(1) 200N
@ 250N
@ 100N
@ 150N

809 6ok Jothre NodS a8 2 m JKe &rgod
@& grKSns® 2 mm2 a’)ocﬁéﬁacé BTeegkn Ko a8
D) Solgdn Bobadss. g=10m/s?m 825 0sst
BOIS Bogswibore wohB8 Dy Ssrd B
(a5 Béwo -

() 8.9x10~%md/s
@ 2.23x10"%md/s
(8) 6.4x10 %m?¥/s

(4 12.6%x10"%m?3/g

10,000 V 8% 5850 Howe a8 O[S HOBoD
vond Sisrsoae &-grfh
éﬁoﬁ@%m P (m,=9X 10~ %1 kg)

1 122x107 1y
@ 12.2x107%m
@ 122nm

@ 122x10" 18y

Boh HOge (HRrerSos® 400 nm ééoﬁ@%m e
52080 EIHPED 1 m Srssnd® sods B8 28
Swesd £ T, SBas Bekeyp 0.2°. S HIH
$0E550E Frge W8S Hwod DBIKPSH Insd
£05 S'dad Skey ?

(b =4/3)
(1) 0.15°
@ 005
@ 0.1°
(4 0.266°

-

T

collegedunia:s

India’s largest Student Review Platform



Engnsh-l:relugu
106 Inereaae intemperature of a gasfilledina mnta:mr

wauld lead to:

(1) increase in its kinetic energy

(2) decrease in its pressure

(3)  decrease inintermolecular distance
(4) increaseinits mass

107. The speed of a swimmer in still water is 20 m/s.
The speed of river water iz 10 m/s and is flowing
due east.: If he is standing on the south bank and
wishes to cross the river along the shortest path,
the angle at which he should make his strokes

w.r.t. north is given by :

o

(2) 60°west
(3) 4b°west
{4y 30°west

108, Two point charges A and B, having charges
+Q and —Q respectively, are placed at certain
distance apart and force acting between them is
F. If 25% charge of A is transferred to B, then

force between the charges becomes :

9F
T
16F
@ "5
a¥
® S
4 F
109. Inwhich of the following devices, the eddy current
effect is not used ?
(1) magnetic braking in train
(2  electromagnet
3)  electric heater
(4)  inductionfurnace

23

106...

107.

108,

Q5
ol @St DodS orakod elfiEs "&Joiﬁiﬁo
RN ;
1 ord K8xdE BNk
@ =R HEssn BrhEod
(3) 0 eostuns Srto é?@é:o&:
@ o (SSEe8 DIHEOD

Qoms DO 2.8 Kgrrd $8 20 m/s, $6 FTFD
D&, éﬁ@ﬁa@ 10 m/s. cﬁ,ﬁ_ma’m DY 56 2t Vool

S8 0B 855 SrS5nd” mbds e88 B¥3D

Sabrres HHES B0 SPosn

n

(2) 60°HE=

@) 45° B85S

@  30°5EHE

+Q BB ~Q e3¥Swen He Toth A, B Bt

b adees Fos. EPB S 602&:\’)5’35&3 T8 Sl

| 108.

posn F. af 3¢ A Gog) e3¥50s® 25% B &

28 IS © BodHgy ook :

gF
O 15
16F
@ =5
4F
@ 3
F

@

& (Bob DB O SOEEBNS” eBG (B

'L‘q’)e,m":?.‘inaéa EE% ?

(1) Dendd wchdod Bdhes
@)  DEgScHdmossn

@) Diind SBESY

@ Bt 0
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Q5 24

110. The radius of circle, the period of revolution, initial

position and sense of revolution are indicated in
the fig.

yﬂ

¥ - projection of the radius vector of rotating particle
Pis:

7t

m =4 sin[?], where y inm

k)

Tt

@ y®=3 “03[“2_), where ¥ in m

t
@3 y=3 mS(%J , where y inm

4 y{t)=—3cos2wt, where yinm

111. In total internal reflection when the angle of

incidence is equal to the critical angle for the pair
of media in contact, what will be angle of
refraction ?

@
@
@)
4)

o°

equal to angle of incidence
o
180°

112, A 800 turn coil of effective area 0.05 m2 is kept
perpendicular to a magnetic field 5x10~5 T.
When the plane of the coil is rotated by 90° around

any of its coplanar axis in 0.1 s, the emf induced

in the coil will be :
1y 02V

2 2x1078Yy
@ 002V

4 2V

English+Telugu f
110. 5% amgirgiin, BOgem ok, &9 §B O
H0|gSoee B (Bod Hednd® SrBalSd.

i
P(t=0)

T=4g

3m

@055y ¥, P, s:gaég 30¥ y - |HESSW

rg

o = 431::{ 5 ],ye‘:o.e:@s

@ =3 cos[i?—] , ¥ .08®

@ y®=3 cos[fzil v &b, &k

@  yt)= — 8 cos2nt, y &b oF

111 S0~ @088 STrdgs DchEné® Botd atris¥ioe
aEOTES EHerdifyHed BE5Stntn HB%o
Kot Eeadin BirSore ol SE¢ss Pambos ?

o o

@ 585 o $SrSsn
@ 9

4 180°

112, ($erarg)d Jeegino 0.05 m? e Ko 800 Sk Ko
a8 8 g 5X107 5 T ewahd)od Fgsns®
LOROMT GOBDEDID. 2FN a8 BSEdn ey
8K 5 S o 0.1 8 08° 90° FoBBRSHD
® 8K $86° (HTVDSRS DS Tl OB |

1 02V
2 2x1073V
8 0.02V

@ 2V
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113. A cylindrical conductor of radius R is carrying a

114.

115.

116.

constant current. The plot of the magnitude of
the magnetic field, B with the distance, d, from
the centre of the conductor, is correctly
represented by the figure :

B
1)

@

)

@
R d
The unit of thermal conductivity is
@ Jm-1K-1
@ WmK™!
3 Wm1K~!
@ Jmk-1
Which colour of the light has the longest
wavelength ?
{I) blue .
@  green
38) wiolet
@ red

The work done to raise a mass m from the surface
of the earth to a height h, which is equal to the

radius of the earth, is :
(1) 2mgR

2) — mgR

8 % mgR

49 mgR

25

113.

114.

115.

116.

Q5
R aesdn o af Spireed sirssng” RuEs

Difogéy (BP0 @dﬁ?ﬁﬁ&:}é F8 B 508mminddy

Sobcky seessn Bodotdidold Ko Srdho d
3% ADS (D &b B0 Hodnd® SPRS DFSune
Ao,

X
(1)

B
)

B
&) 1:

R d

B.
@ N\

R 4d
&gaﬂéﬁéé‘s@ﬁmm: =
1 Jm 1K1
@ WmK-1
3) Wm-1K"1L
@ JmEK-L

se08 BoE) O S edjod _&gﬂa‘mm &%)
SBONBY $3000 DA Swotnod ?

(1) Moo

@ o5

@)  Homah Soid
@ D

27 AHBBOTOK08 el (BB5Te8 m & g TFEHOS
(R) 2% h % BHerds eoSIEHS B :

(L) © 2mgR
@ % mgR.
6} % mgR
(4 mgR
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Q5 26 English+Telugu
117. Pick the wrong answer in the context with 117, =oESssa bMﬁo%g}‘p, &8 808 DSBmes®
i .
LEEHIOW N8 $5p ?
(1)  The order of colours is reversed in the
S5 soAn b ralom: 1) &3dcss mo(Se 3808 Soroo|EBo8m
&@g&m&ﬁw QotHsrew,
(2)  Anobserver can see a rainbow when his front _
is towards the sun. @) Srtygh DD 8OA WrKed) Sodosas
3  Rainbow is a combined effect of dispersion, BOBGRRY) S0l
refraction and reflection of sunlight. 3 BOEE I8 ©se P08 B 33;%35 £,
(49  When the light rays undergo two internal S8y Hodas DTREIIN0 DolFH
reflections in a water drop, a secondary [Sderiae,
rainbow is formed,
@ a8 I8 Do) Hol b Ebemen Told
088 SorSiSaren JobSSHE A
118. A soap bubble, having radius of 1 mm, is blown a s G; 5"‘&3 ;;}a SERRE Byheh
from a detergent solution having a surface tension ROGBEDT D).
0f2.5x 10~ 2N/m. The pressure inside the bubble
equals at a point Z, below the free surface of water 118, 1 mm o95dgsn €OAS o Sy oS
in a container. Taking g=10 wm/s2, —9
density of water =108 kg/m3, the value of Zyis: ‘.2'5 *107% N/m Sod%s8 H0AS & ©Qoe
(ESesinood anss®, min aXdsedn 8o o
(B 10em Dot Zy SHS SSSHo S5 Horao.
©® lem g=10 m/s%, DB FrolSes = 108 keg/m3, e SB&0H
3  05cm AR
4 100cm @ 10cm
2 lem
119. Ionized hydrogen atoms and o-particles with same @ 0bem
momenta enters perpendicular to a constant 4  100cm
magnetic field, B. The ratio of their radii of their
paths rg : r, will be :
119, wchdsbmo BodoswlS TE RS SESme0syen
o 1:2 SoB0ky o-Seasioen &8 535 Fiixnd® womarr BERES
@ 4:1 wdhPdped @S B °8 (5380059, o8
@ 1:4 SrEEnes® e QB 1y T,
@ 2:1 B Le2
@ 4:1
120. At a point A on the sarth’s surface the angle of @ 1:4
dip, 3= +25°. At apoint B on the earth’s surface @ 2:1
the angle of dip, 5= —25°. " We can interpret
that :
? 120. ¢fr 508007 &8 DothH A 5 eSS s
(1)  Aislocated in the southern hemisphere and 8= +25° 5% Do B 58 Ko oXirs St
Bislocated in the northern hemisphere. _ i
(2) . Aislocated in the northern hemisph d 2= 53@93)55‘599=
.£11s located in the northern hemisphere an x
Bis located in the southern hemisphere. O Aoge @;5:569"5‘”55’ B &go @gﬁsgwm&'
(3 A and B are both located in the southern @ Aess @gﬁs #5od®, B &5 @Qﬁs LB R)
hemisphere, @ A BOothHes Doth e enfesnsR.
4} A and B are both located in the northern
@ hemisphere. 0e 4 A, BOo&kpes Botd el @gﬁ*‘é::w‘m.
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o 27 Qs
121. Apaﬁiclé:moviﬁgﬁith velocity ?isactééi-bythree 121 ? Fxsns® Loy 2% oS B 3@5&

forces shown by the vector triangle PQR. The 3 peren (808 $rHa8d $OY¥ (Bghedn PQR 58
velocity of the particle will: a%D. wond @ Koo ) S : |
P . B

9
g O S
() decrease ' : '- ®  ysso ol |
(2) remainconstant’ @) = 8 O oose QR & edrbuom S
(3) change according to the smallest force E}ﬁ @ DD |
@) -moteasy w v o 122 65D WEwEEH DS’ (808D D5t

122. F type semiconductor, hich £the followin 5 o _
B o TR B Golgres o5HE DespmIaves O

¢ : JAT EG EME v e o, o g -'.
. 4y Holes are the majority earriers and trivalent @@D@D“ﬁé HBBrrrDHe0 SOODIDL0

atoms are the dopants. : @ Solgren e&ds dpgrEEey HHake Bo
(2) Holes are the majority carriérs and Sodiras B0 &Sémw '-

pentavalent atoms are the dopants: -_ ) a@@m &R a)cs:;sméaum BB %0335
(3) Electrons are the majority: carriers and Bodress HESwe0Heo DB '

pentavalent atomsarethe dopantg. ' @ osHE 3&)5&*3 o aﬂ@;&m S8
4) Electrons are the majority carriers and | ) | @}{Jé&?a&é SEBPEDDHL0 &gﬁmm |

trivalent atoms are the dopanta. .. B | o |
128 88 o G Ho on B Hodckm LD SO0

123. A copper ,rqd of 88-3111 and a_'z} alumlmum rod.of @mugﬁoadﬁaﬁ} s éﬂﬁséﬁ U SO L Satfats o)
independent of incréase in temperature. The length ; e ol Beee
of aluminium rod is : (&g, =1.7 x10~3 K~ and @wcéosﬁu)acfa @Wﬁ&){:?ﬁ o8 % - &ED
ay=2.2%10"5K"1) .. : (oo =1.7x 1075 K~ 1 5oBck
(1} 113.9cm : ﬂm=2.2x10"51{“1)

() 1139%cm
@ 88cm @ 88cm
(3) 68cm @ . 68cm
@ 68cm @ 68cm

124. Two similar thin equi-convex lenses, of focal length 124.: a8 S5 Bod ;j@ﬁ& 55})&3‘02;‘3’“6’5& S
.f each, are kept coaxially in contact with each other aé"'&é&ﬁ f ma}’;oé’déaom “e, ES&’J“‘%O‘S&OW
.such that the focal length of the combination is e oed8Ed & 10e080:8)£230 DV AL fatesh il
F,. When the space between the, two lenses is apegoussD Fy. Doty BeEEne SoLss (SBEE0S®

filled with glycerin (which has the same refractive
_index (= 1.5) as that of glass) then the equivalent
" foéal length is Fy. The ratio Fy : Fp will be »

p50S% @D SEFSE HeEPB e SBeSS
Moo S0 (1.5) $& SH@EIe) odIEpEd .,

S A2 : ) -' éaﬂéﬁ‘&féﬁéﬁfm Fy &?o:\)é F, :,_:_FE :
' | : @ 1:2 |
ol @ 2:3 |
2 3t -. @ 3:4
(4) 2:1 7 (4) 2.1
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Q5

125,

126.

127.

28

A disc of radius 2 m and mass 100 kg rolls on a
horizontal floor. Its centre of mass has speed of
20 cm/s. How much work is needed to stop it ?

@
@
@
@

30 kJ
2d

14

3d

Six similar bulbs are connected as shown in the
figure with a DC source of emf E, and zero internal
resistance.

The ratio of power consumption by the bulbs when
(1) all are glowing and (ii) in the situation when
two from section A and one from section B are
glowing, will be :

A g
L™

L™
ML ™

————HE——

H 9:4

@ 1:2

® 2:1

@ 4:9

A magss m is attached tﬂ. a thin wire and whirled
in a vertical circle. The wire is most likkely to break
when :

D
)
(3)

@

the wire ig horizontal
the mass is at the lowest point,

inclined at an angle of 60° from vertical

the mass is at the highest point

| English+Telugu|

125. Both ey g HHbako 100 Bugrie [~5elt!

126.

127,

. @

fo 0.8 BP0 §8es Siirods Jop 50006,

(55508 Boltssw T S8 20 em/s. AID eHe
SIITDS HD .

@
@)
3

30 kdJ
2d
1d
3d

o™ @088 A8%Hn Sk DS ool vosiv E
SDAS 2.8 D8 Swp [Pk esEknsS oF BEDS 6
DePOD HLS0® SeDS DSore KOB .

& [Bob Botd Botiozned® $ahmus rorzse DY :
@
@  AVEDS0R Tos 20ckn B DEDOB 2.8

&) QUPHD 5&&&3’:&&}

®ey) JeoidDptd
— —
A B
M ™
N
S
1
'E
{1 9:4
@2 1:2
@ 2:1
4 4:9

&8 SGB B 8B (55008 ‘m’ % Qe &S
BRIGPH, © B 20AVSH wisdsn & (8od
BotSE)od® HBL0E S oSS |

)
)
3
4

© 81 48 S¥rodtore G '~
® (S50 edsod (BoXm ad)pi
Denid 60° Pondt Son SXHEH

© (B550°8 ®E08 IBS DothH 563 G

-

T
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1

128.

129.

0
/
A1

0
Lo
B 1

l

The correct Boolean operation represented by the
circuit diagram drawn is:

1 OR

@ NAND
@ NOR
4 AND

A block of mass 10 kg is in contact against the
inner wall of a hollow cylindrical drum of radius
1 m. The coefficient of friction between the block
and the inner wall of the cylinder is 0.1. The
minimum angular velocity needed for the cylinder
to keep the block stationary when the cylinderis
vertical and rotating about its axis, will be :
(g =10 m/s?)

10

(1) pt rad/s
(2) 10radfs
3) 10wradls
4  Jig radfs

180. Average velocity of a particle executing SHM in

one complete vibration is :

(1) Aw
Aw?
@ 5
(8 =zero
Aw
@ 5

29

128.

129,

130.

Qb
+6V
78 x
Al 3 LED (Y)
R
" 2
{1

[
—r

& S0cHHeS™ PaDS ardudS 68k

1) OR
@ NAND
@ NOR
4 AND

a8 Had Trgis fo ol hy Sparssd ES
o) %50 RiED 10 kg (Bg078 Ko o8 &k
B aNd. & Dod Bogfy ogps teatin
0.1. Qenidrr ol &5 wfdn egriore [FoR) S8
MpEnd® & Gy Dfoore Gomreod KRBt

@aodHodS ©8 SHH g8f sy JIHDn :
(g=10 m/s?)

@ % rad/s
(2) 10 rad/s
3 10 w7rad/s
(49 10 radfs

S SoEE Sosin o e End T

EoBSS5nStD K¥omdd Ik
1 Aw
. A’
2 5
@ &Iy
Aw
@ 5
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Q5

132.

133.

134.

30
131. Two parallel infinite line charges with linear

charge densities + A C/m and —\ C/m are placed
at a distance of 2R in free space. What is the
electric field mid-way between the two line
charges ?

2\

A
@) = N/C
A
(3} 21TEDR Nfc
4 zero

When an object is shot from the bottom of a Tong
smooth inclined plane kept at an angle 60° with
horizontal, it ¢can travel a distance x, along the
plane. But when the inclination is decreased to
30° and the same object is shot with the same

velocity, it can travel x, distance. Then X0 Xy
will be -

O J2:1
@ 1:43
@  1:243
@ 1.2

When a block of mass M is suspended by a long
wire of length L, the length of the wire becomes
(L.+1). The elastic potential energy stored in the
extended wire is :

1y MgL
1
1
4 Mgl

The total energy of an electron in an atom in an
orbitis — 3.4 eV. Its kinetic and potential energies
are, respectively :

(1) —38.4eV, —8.8eV
(2) 3.4eV, —6.8eV
(3) 3.4eV,3.4eV

4) —3.4eV, -84V

131.

132,

133.

134.

| English+Telugu |

dsusr¥os® Both HErosl ekosd Bhoh edwe,
3DcH 3:5355 Jrotseley + N Chm, s08a50 =N C/m,
é’wcﬁé $7550 2R ©ondS® e Solod ai:'cﬁé v datetil
Ko DeinB FeD Jeod ?

2N

N/C
O —
A
N/C
) megR
A
N/
@3 2megR -
4) SIS

£8ar08 60° ooty T relord B Koy
0 BoH DD FrriZodod ol ShHd D8
SEIDH 27 tooBHn IYPIB. =R 30° BleaswisH
Efod o8 e Sodnp of SHos of $%hHH
3@5 Y LorBHn x, @SS XXyl

O V21
@ 1:48
@  1:243
@ 1:42

M Eaigoedre fe a8 Sy L e ol Segs
B P 52355 o &K GwE) FEH L+
©oRB. & SEhoSnls B’ Harsy Ry
0N :

1) -MgL
1

2) 5 Mgl

@ Mgl
2

@ Mgl

2.8 BEIPeHER o8 856%0 oS ot HnEo
8§ ~8.4eV. wond &R 1182 HoO HB2 FHen

- s

(1) —8.4eV, —6.8eV
(2) 8.4eV,—-68eV
3 346V, 8.4eV

@ —84eV, —3.4eV

-

T
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135.

_In anexperiment, the percentage of error occurred
. in the measurement of physical quantities A, B, C
“and D are 1%, 2%, 3% and 4% respectively. Then

“"{he -maximum percentage of error in the

136.

137.

138.

139.

A2 B%
measurement X, where X = ,willbe :
c/ DB
1 16%
@ —10%
@ 10%
37,
i {74
@ (13]

For an ideal solution, the correct optionis:

(M) A, V#0 at constant T and P

© .. Ay H=0atconstant T and P
S@)  ApG=0atconstant Tand P

4 Ay S=0atconstant Tand P

The non-essential amino acid among the following

is

() leucine

(2) alanine

@) lysine

(@  valine

Which will make basic buffer ?

() 100 mL of 0.1 M CH3COOH + 100 mL of
0.1 M NaOH

@ 100 mL of 0.1 M HCL+200 mL of
0.1 M NH,OH

{3 100 mL of 0.1 M HCl+100 mL of 0.1 M
NaOH

(4 50 mL of 0.1 M NaOH+25 mL of 0.1 M
CH,COOH

In which case change in entropy is negative 7

(1) Expansion of a gas at constant temperature

2) Sublimation of golid to gas
@) 2ZH(g) > Hy(®)
(40  Evaporation of water

31

135.

| 136.

188,

139,

Q5
8.8 (SEKS06® TONS 4 P, A, B, C 0B85
D, &% & daesoen S50 1%, 2%, 3% S
4% oon$S® X Fods® odhd &8 eEs,

2 nk
X = ‘é‘},i: P BB 5m)
3
®  16%
@  —10%
@  10%
4 g
o (g

i5%) @08, KBS wEdd :

D Ap, V20 PS T 5B P 55

@ A H=085 T 58k PS5

@ Ay G=0%8 T Sobas» P 5

@ Ay S=035 T 580 P 54
137. (800 TBE orHs I’ wii :

QO ordd |

@ do38

@ 8b8

@ 38

8 055 DO DSkod ?

() 100mLe0.1M CH;COOH +100mLe 0.1M
NaOH |

@ 100 mL © 0.1M HC1+200 mL © 0.1M
NH,OH

100 mL © 0.IM HCl+100 mL & 0.1M
‘NaOH

4 50 mL o 0.1M NaOH+25 mL ¢ 0.1M
CH,COOH

Zocsr060 Dot et Srdyp anar o
Bo&nod ?

@ 8 AP $g TP amEtESn
@  $osHergo sraindi agddo

@ 2H@) > Hy)

@ 5% 86 esbo

-

—
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Qb5

140, For the second period elements the correct
increasing order of first ionisation enthalpy is :

() Li<B<Be<C<0O<N<F<Ne
@ Li<B<Be<(C<N<0O<F<Ne
3 Li<Be<B<(C<QO<N<F<Ne
4 Li<Be<B<{C<N<Q<F<Ne
141. Match the following :
(@  Purenitrogen ) Chlorine
()  Haber process @) Sulphuric acid
(¢ Contactprocess (ili) Ammonia
@ Deacon’sprocess (iv) Sodium azide or
Barium azide
Which of the following is the correct option ?
@ b)) @ (@@
O @ v @ G
@ @) Gv @ @
@ v @) @ @
@ © @@ @) G
142. 'The eorrect order of the basic strength of methyl

substituted amines in aqueous solution is :

(1)  (CHy)sN > CHZNH, > (CH,),NH
@  (CHp)N > (CH,),NH > CHyNH,
@) CHzNHy> (CHg),NH > (CH,),N
@  (CHy)yNH > CHyNH, > (CHy)sN

143. The number of moles of hydrogen molecules
required to produce 20 moles of ammonia through

Haber’s processis :

® 220
@ 30
@3 40
@ 10

144, What is the correct electronic configuration of
the central atom in K [Fe(CN),] based on cxystal
field theary ?

6
@  ty e
@ &t
(3) ~ tg
4 2
(4) tEg e,

32

140.

141.

142,

143.

144,

[ English+Telugu]

BoKS HBHE ($0f FB) Sromreds Ioss
o@IBHS ogrd) DeT $BS (B :

() Li<B<Be<C<0O<N<F<Ne
@2 Li<B<Be<C<N<O<F=<Ne
3 Li<Be<B=<(C<QO<N<F<Ne
4 Li<Be<B<C<N<QO<F<Ne

8oBd) 28 BaHod :

@ g FS%S 0 €68
® rab BB @) Serpdseio
© G ogs (i)  eIrRase
@ &8 BB @v) RB8Bcvo IBE By
Booho JBE

Bob =&8® D& ¥B% QEESw ?

@ b @@ «@
®» @ v @O
@ @ v @ @
@ Gv) G G Q@
@ ©® @ @ G

20 [Seod® HES HEEHS 2o 8 voo $BS
B35

() (CHygN>CHyNH, > (CHg),NH

@  (CHy)4N > (CH,),NH > CH;NH,

3)  CHyNH, > (CHy)oNH > (CHy) N

4)  (CHy)yNH > CHyNH, > (CHg),N

el $E8S° 20 TrSe SRV GHBES EBORS
TE S wmHe Irde Sogy :

® 20

@ 30

® 44

@ 10

{BE B brposo egrdore K, [Fe(CN)gl & Sois
BEKresy WIS oS Do & ?

D) - tzg eg
@ et
@ 't
@ el
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145,. The major product of the following reaction is :

146.

147,

@

@

@

SR8

COOH.

strong heating
& »

COOH

2,
=rg
b2

NH,

NH,

COOH

CONH,

Which of the following is an amphoteric

hydroxide ?

(1)  Ca(CH),
2 Mg(OH}z
(3)  Be(OH),

(4) 5r(OH),

Under ia{:g.tl?_m:rnal‘j condition, a gas at 300 K
expands from 0.1 L to 0.25 L against a constant
external pressure of 2 bar. The work done by the
gas is

[Given that 1 L bar=100dJ]

)
@)
@
4

5 kd
254
304J
- 30J

33

Q5

145." (Sob S558° (S5l ad)fsn

)

2)

3

@)

COOH
+ NH,

i@ D& Dotoe

COOH

E)

COOH

NH,

COOH

X
S

146. (800 8BS° 8.8 AFkeESS TFEHE b ?

147.

@
@
@
@

Ca(OH),
Mg(OH),
Be(OH),
Sr(OH),

300 K 3% 2 bar © emieg & HoDs o’azg@ﬁébm e
&8ss $0HBS* 0.1 L X0l 0.25 L % arainod
TSRS Tobds. TanD DRF BV

[1 Libar =100 J Kowe@sa]

@
2
3
@)

5 kJ
254
30J
- 304d

L ]
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Q5 34 | English+Telugu]
148. For the cell reaction 148. 306 555
2Fe®* (aq) + 21~ (aq) — 2Fe?* (ag) + Ly(aq) 2Fed* (e3e) + 21 ~ (m0) — 2Fe2+(ae) + Iy(ese) &
Eon=0.24 V at 298 K. The standard Gibbs 208K 58 B2, .= 0.24 V. 30& S8 (Bmes A
energy (A,G®) of the cell reaction is : #8 (A,G®)
[Given that Faraday constant F = 96500 C mol ~ 1] [#58 Zoro¥o F=96500 Cmol ~ 1 & anikedse]
() —23.16kJ mol-1 Eg i ”’i‘fll-l
. - mo
? 4652kdmol™ @  23.16kJ mol~!
3 23.16 kJmol~1 @ — 46.32 kJ mol~1
4 -46.32kIJmol"?
149, amerd)s eil¥o Ko Feronk [Agl]] ~ & DigKerds
149. Which mixture of the solutions will lead to the T8 & e LFHdw B ?
fm{n:;atinn of negatively charged colloidal [AgI]I~ ) 1M AgNO, &%) 50 mL+2 M KI &%)
sol. | o :
; 50 mL
1 50mLof1MAgNO;+50 mLof 2 M KI @ 2MAgNO, :iﬂxxégr 50 mL+1.5 M KI G0
2 50mLof2MAgNO,;+50 mLof 1.5 MKI 50 mL
3) 50mLof0.1 MAgNO,+50 mLof 0.1 MKI 3 0.1MAgNOz&»%) 50 mL+0.1 MKI G
@ 50mLof 1 MAgNO;+50 mLof 1.5 MKI - 50 mL
@  1MAgNOy&ws) 50 mL+1.5 M KI &%)
150. Among the following, the one that is not a 50 mL
green house gasis:
) etHEns 150. (Bod ToAE* FOSHS arcind 908
@  ozone O BS
@  sulphur dioxide @ &&S
(4) nitrousoxide @) 0 GG
@ Je8 BE
151. Which of the following reactions are
disproportionationTesction? 151 (808 S8t DD oFPS Dowd (obds)
@ 2Cut - Cu?* +Cuo Stgeo ?
9 N B @ 2Cut - Cu?t +Cud
®) 3MnQO; + 4H" -3 2MnO, +MnQ, +2H,0 SMnOZ + 4H* — SMuO™ + MO +9E.0
A ® 4 = 4 g +2kly
( 2EMnO, 2, KoMnO, + MnO; + O, © 2KMnO, A, K,MnO, +MnO, + Oy
Select the eorrect option from the following : (Bob & Hool BBS 0YY a{:agso& .
1) (a), (byand (¢) D (), ()85 ()
@ (a){c)and(d) @ (), () oBain (d)
3 (a)and (d)only B  (a) B (d) Sego
4 (a)and(b)only @  (2) Sdss (b) Srigo
152, A compound is formed by cation C and anion A. | 152. C2ercsnE, A s3cS08® 2.8 55%95:;;5» BYESE.
The anions form hexagonal close packed (hep) sboirSen Hhhdah $QErE ety eameyts
lattice and the cations cccupy 75% of actahedral NS = ?2%&;% = ‘Qi&g 5 (Igﬁﬁy s £
voids. The formula of the compound is : 3 ok Olg=e e
O Ca, SEQoHE Ton.  SayFiden e
(1) Cah,y
@ CuAy @) CoA
4
@ Cg ® CuA,
@ Coag @ GCahq
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153,

1564,

155.

156.

157.

158,

@

Bt

If the rate constant for a first order reaction is k’

‘thé time (t) required for the completion of 99% of -

the reaction is given by :
O t=6.909/k
(2) t=4.606/k
@ t=2303/k
4 t=0.693/k

Among the following, the narrow spectrum
anfibioticis-:

(1) ampicillin-

(?) amoxycillin
chloramphenicol

(4)  penicillin G

Which of the following species is not stable ?

1)  [GeClg]?~

@  [Sn(OH)I-
[SiCla ]2

4 [SiFgl®-

Which of the following diatomic molecular species
has only 7 bonds according to Molecular Orbital
Theory ?

O N,
@ G
(3 Be,
@ 0y

Conjugate base for Bronsted acids H,0 and HF
are :

(1)  HyO0% and F, respectively

@ OH andF-, #especﬁve_ly

® H Ot and HyF %, reéﬁécti;rely
4) OH- and HyF*, respectively

The method used to remove temporary hardness

of waterig: .
(1) Clark’'smethod
‘ @  Ion-exchange method
(3) Synthetic resins method
(4) Calgon’s method

35

153.

154,

155.

 1586.

157.

158.

Q5
B> Ehmo¥ StisEs Tew {oeoo k eowd 99%
B85 F8 eS8 B oo () A

@  t=6.909/k
@ t=4.606/k
@ t=2.303/k
@ t=0.693/k
Bob o8S° o) Bairds D98 crodndrds ;
D HodE
@  Dur&PoS
B EooSHe’S
@ 285 G
8ol erdood® JEPIL S8 2B ?
(1) [GeClP~
@  [Sn(OH)g)2~
@  [SiCl]*-
@ [SiFg}2-

0 afird drpodo 5o Bod SgBEEme
eveerdod® S08 7 aorrey SrED sotran 7

I N,
@ G
3) Be,
@ O,

H,0 $:8c8» HF (288 & sdpe scowhds
Seoeen

1) Ssm Hy0" Sbdin F-
@ S5 OH™ 5obckn F-
B St Hy0* SHobake HF+
@ Sdm OH™ Hbcs» HFH
28 sromps SBRERH FohoHnd SSGEPACS
550 :
O xH5ge
@ oS DD Hi5e
@ Hodhs DeSo B8
@ oS 5858

] [

-

T
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159,

160.

161.

162,

163.

A gas at 350 K and 15 bar has molar volume
20 percent smaller than that for an ideal gas under
the same conditions. The correct option about
the gas and its compressibility factor (Z) is :

() Z>1andrepulsive forces are dominant
(2) - Z<1and attractive forces are dominant
By Z<1andrepulsive forces are dominant

@

Z > 1 and attractive forces are dominant

pH of a saturated sclution of Ca(OH), is 9. The
gsolubility product (K, ) of Ca(OH); 18 :

(I 025%x10~10
@ 0.125x10-15
3 0.5x%x10°10
@  05x10-15

Which of the following series of transitions in the
gpectrum of hydrogen atom falls in visible
region 7

(1) Balmer series
(2) Paschen series
(3)  Brackettseries
(4 Lymanseries

Which is the correct thermal stability order for
H,E (E=0, 8, Se, Te and Po) ?

@ HyPo<H,Te < HySe <H,8 < Hy0
8 H,Se <H,Te < HyPo < H,0 < HyS
(4 H,S <H,0 <H,Se <HyTe <HyPo
Match the Xenon compounds in Column - I with

its structure in Column - IT and assign the
correct code

Column -1 Column - 11
(@ XeF, (@) pyramidal
by XeFgq (1) square planar
© XeOF, (i) distorted octahedral
@ XeO4 (v} square pyramidal
Code:
@ G @© @@
@O @ @ m @
@ @ @ @® @
@ @) v @ @
@ @ @ @ )

36
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159, 350 K $00c50 15 bar $¢ a¥ apding Ireed
FBHOEPRED 68 $OYos® ol el o
508 20 To80 SENHMe dotnod. & T HdGK
0 H0RNES 108¥0 (Z) HOODS KT oEHEsw ;
D Z>10d» ¥ wove @ﬁa;etgo
BOEN0H.

@ Z <1 5:8a5» @géfﬂea Bee Sreego
&0&noh.

@) Z <1 H0d»n IEge aove (@roego
&0tnod. '

@ Z>1500d» ueiin aove (Fraego
=lelavielal

af Ca(OH), S0l wedmo pH 9. Ca(OH),
ersdons oo (K, :

(1 025x10-10

@ 0.125x10-15

3 05x10"10

@ 05x10-15

161 ES SSSrmd $Y dwos® Bod 8t O
B8BTS (Beavew TS (Arodos® sotran ?
(D) emob (Besoew
(2 PES |Fesoen
8 (28¢5 |Beoew
@) 858 (Fewen

160.

162. H,E(E=0, S, Se, Te 050 Po) 538 &3 R0
ESogn0 D8 ?
1) H,O0 <H,S <H,Se < HyTe < HyPo
(2 HyPo<H,Te <HySe <HyS <H,0
@ HySe < HyTe < HyPo < Hy,0 < H,$S
(4 HyS <H,0<H,S8e <H,Te <H,Po
163. 03 - 1 6% ATS Syl =ds - II &

o ¢3 Kluﬂéeaéme.:ﬁs 2ESTD IS Soserdy

ROTHE R0
aodae - I apfae - 11
(@ XeF, @ elateitatil
() XeFg {)  SHEE SSse
© XeOF, (i) DBeHe DodD
@éﬁ)}ﬁ)ﬁﬂa
@ XeOq (v) SeBH EES
$oB¥o :
@ ®) © @
OH @ @ @ O
@ @ @ O G
@ @ @ O @
@ @® @ @ @) -
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164. The structure of intermediat A in the following
:rgé.c_ticn,.is

\033
H+
+ HyC ACHE
.- HgC- C- 0 0-H
' @

CH
OOCH

2 ‘ CH,

CH,~0-0-H

H
CH,

5

3)

4

166. Identify the incorrect statement related to PCly

from the.following :

(1) Twoaxial P—Clbonds make an angle of 180°
with each other

(2> Axial P- Clbonds are longer than equatorial
P-Clbonds -

3 PClymolecule is non-reactive

4)  Three equatorial P — Cl bonds make an angle
of 120° with each other

37

165.

164. (808 SKs® Hogiggo A Qoeasio :

_~CHg
\CH3
H"‘
+ HyC ACHE

ey

@

3)

@

Q5

CGOOH

@

i
0-0-CH

I s
‘ CH,

(/ ~0-0-H
H“‘\CHE

CH,
c.ﬁ
“CH,

0#"’

Bod 808 PCL; % Somofodd $BS st

28 8odod ¢

(1) Toth 2GS P-Cl wogren a8 oed8
HEES 180° Boeardy DSytoReaw.

@ §HS P— Cl aogren éaéseﬁﬁaﬁﬁsﬁ P-Cl
eogren $08 HEHIT aotraw,

@ PClyemd zﬁvg'ﬁﬂéﬁ 808.

4 S éaéﬂgéﬁ‘ﬁcﬁ:@ P —Cloogren a8 P&
5058 120° 8°eaedy D )KoR=ow.

T
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166. For a cell involving one electron By = 0.59 V at

298 K, the equilibrium constant for the cell reaction
18 :

[Given that 2398 RT _ 6 050 vVat T = 208 K] -
() 1.0x109
@  1.0x1010
(3) 1.0x1030
@ 1.0x10%
167. Forthe chemical reaction

No(g)+ 3H,(g) = 2NHg(g)
the correct optionis:

o d[tl;iﬂ:zdﬂji{a]

168. An alkene “A” on reaction with 03 and Zn—H,0

gives propanone and ethanal in equimolar ratio.
Addition of HCl to alkene “A” gives “B” as the major
product. The structure of product “B” is

CH,Cl

|
() HyC—CH,~CH-CH_
o
) H3C--CH2-—C-~CH3
I
Cl
CF
H,C-CH-CH
@ 0
Cl CH,
o8
@ Cl-CH,—CH,—CH
I
CH,

38

166.

167.

168.

[ English+Telugu
298 K $¢ o J)E}Ls:ﬁéﬁ' EPAS ofotrdw

ESo=0.59 V. 3ot S8 Sfadd oo¥o
.303 R
(=208 Kssgs 222 L _.059 V f covigion]
() 1.0x10°
@ 1.0x10%0
3 1.0x10%
@ 1.0x10%
BICHE S5g

Ny(a®) + 8Ha(a®) = 2NHg(a) £ 988
a:ﬁbéxin :

_ dN,] _ , d[NH]

0 dt at
_ 4[Np] _ 1 di{NHg]
@ dt 2 dt
diHs]  d{NH;]
@ 3 dt 2 7%
1 d[Hp] _ 1 d[NHy]
3 dt 2 dt

2.8 a&)f “A” O, 580 Zn—H,0 & St56° Sk
ABS° (DEHSS B> wFeS Dkpod. wHS “A”
HC1 8 Sogosos® (Heed addkn “B” 9 aod.
&y “B” Qoo

CH,C1
()  HyC~CH,~CH-CH,

o
¢ H3C-CHy—-C~ CI—I3
|
Cl
e
H.C-CH-CH
&) 2 1
Cl CHg
i
CH,

L ]
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169. Among the following, the reaction that pruceeds 139 {_gge_-, ;;«u{aﬁesﬁ Q@Lgﬁ ) ag Lg; Eﬁé&“’am [~ Eaﬁ |
through an electmphﬂlc substitution, is : :

i x'n:m.

AlClB
(L ©+ Cly—— QCI+HC] (1) @.,. CIEM_GI?*,. .—CI+H(}1
a
UV light . .
@ ©+012—} Cl cr . @wlﬂw Light

da o

heat :
(3) @CH20H+ HCl—r.—CHEGH“HgO @3). QCHEOH frHClliatﬁCHzCH Hy0
CusCly_ /N Cugg "‘

170. The most suitable reagent for the fallawmg 170. 808 HBHESS edshsore SRS s6¥o -
conversion, is: : | - |

H,C CH,
HgC—CEC~C_H3.—_} >=< HEC -C=C- CHa—b >=<

cis-2-butene | ‘%‘0—2_%55

) H, Pd/C, quincline () Hy Pd/C, &*HS

@ . Zn/HCI @ Zn/HCI |
@ Hg?*/H*, H,0 ®  HgM/H* H,0 : ‘
@ Nalliquid NH, o) “Na/\gs NH,

171." 4d, 5p, 5fand 6p orbitals are arranged in the order 171.  4d, 5p, 5f SoBdi». 6p ed)irSod 8 éﬁ [B0sns®

of decreasing energy. The correct optionis: wDHGHASD. $BS wi)Es ;
(I) ®6p>56f>5p>4d () 6p>5f>bp>4d
@ 6p>5f>4d>bp ' 2 6p>5f>4d>b6p
@ 5f>6p>4d > bp | @ 5f>6p>4d>5p
(4 bBf>6p>5p>4d 4 bsf>6p>bp>4dd
172. Engymes that utilize ATP in phosphate transfer | 172. )& Qa8 ATP J aSDrNoHES 20gHe%
require an alkaline earth metal (M) as the cofactor. g R eﬁaanmm) g‘anéann OSIEDHHO.
Mis: v Maa ?
W Mg | (1) Mg
@ Ca 2 Ca
@ S (3). Sr
4 Be @ Be i
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178.

174.

175.

176.

177.

Which of the following ig incorrect statement 7

(1)
@

3)

4

8iCl, is easily hydrolysed

GeX, (X=F, Cl, Br, I) is more stable than
GeX,

SnF, iz ionic in nature
PbF , is covalent in nature

The manganate and permanganate ions arve
tetrahedral, due to:

1)
(2)

3)
4)

There 18 no w- bonding

The - bonding involves overlap of p-orbitals
of oxygen with p-orbitals of manganeze

The 1r- bonding involves overlap of d-orbitals
of oxygen with d-orbitals of manganese

The w- bonding involves overlap of p-orbitals

of oxygen with d-orbitals of manganese

Which one is malachite from the following ?

(1) Cu(OH),

@) FeyO,

8) CuCO05.Cu(OH),

@ CuFeS,

The mixture that forms maximum boiling
azeotropeis:

(1) Ethanol + Water

{2)  Acetone -+ Carbon disulphide

(3) Heptane+ Octane .

(4) Water + Nitric acid

The correct structure of fribromooctaoxide is :

(1)

@

3)

@

QO
0% Il a;o _
O0=Br—-Br-Br-0
& ] e
0. -
_ 0% Il /0
O—-Br—Br—Br=0
) I N -
o0 5 O
&

O P _
0=}31:—Br—1§ir~0
74 I %
o° & ©
O
O, 1 P
O=§r~Br—Br=0
7 1l ¥
O 0 0O

40
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173. (&oB D¥Bmod® KDEE N6 28 ?

174.

176.

176.

LAk

O  SiCl, Soodiore ﬁﬂ&)ﬁiﬁm a3roEob.

@ GeX; (X=F, Cl Br, I) GeX, 808 &%
Q60 Bod.

) BnF, eairlE Sgrdo o,

@)  PbF35@radad Srde Sob.

BroKRE Hobcko SomerDes ©ciSen BErIEES

Do :

(1) %% - podn Bk,

@ T-oofo u8S p-udiirde SroKDHS
p-estrSes® ErdS ©8rEo sotod,

(3) mwofo el d-edjirdes SPoNIS
d-uerdod® &rad wdirdo dotood.

@ w-wogo edyud p-efjirde S0 DS

d-@%@ﬁﬁ:&s ErlS eofardo Gotuod.

(Bod =& Hrofl SreB O ?

(1) Cu(OH),
@  CuCO,;.Cu(OH),
@  CuFeS,
005 aE S¢ H0h JABFE’S DB
QolFenedn
QD 2335+5%
@ WSS +eyS g8
@ RS +eES
@ DH+IJBE so
(BT o & $B5 doyeesiv :
0
O i ,° _
CA'S
- 0% ([:IJ ..-*O“
@ O TRRO
0O
o, ¢ 0 _
@ O pTHTRO
o
0
O 1 °
O=Br-Br-Br=0
(4) 04'/1‘ 'nr QO‘
0
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178. The bicdegradable polymeris:

179.

180.

@
2
(3)
@

nylen 2-nylon 6
nylon-6
Buna-S

nylon-8, 6

The compound that is most difficult to protonate

is :

®

@

(3)

@)

0

ch/ TSH

- 0

ch/ \CHS
O -

H/O\\H

The number of sigma (o) and pi (w) bonds in
pent-2-en-4-yneis:

1
(2)
3)
4

8 o bonds and 5 7 bonds
11 o bonds and 2 v bonds
13 o bonds and no wbond

10 o bonds and 3 7w bonds

-a0o0-

41

179.

180.

178. &5 Zowy$ FOH6 :

1) BorS23e56

@ SBerl-6
@B  egs-S
@ @wS-e, 6

Q5

ER SN wERE BJore e K:T:'béﬁ'éﬁm 1

0

1) Hac/ SH

| P

@  HC "CH;
0 |

® Ph—"  ~H

0O
@ H- TNH

DoB-2-&5-4-08 &°0 ™) (o) HodaS» P ()

2OGFO VoKD :
(1) 8 oeonren aNddin 5 weoren

(2) 11 o 2onren 0D 2 wo5men

(3) 13 ooopren HBkn ooo B%

(4) 10 o =ogren Bako 3 weoiren

-000-

-

T
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Read carefully the following instructions:

(808 drSess st S50l :

1.

Each candidate must show on demand his/
her Admit Card to the Invigilator.

No candidate, without special permission
of the Superintendent or Invigilator, would
leave his/her seat.

The candidates should not leave the
Examination Hall without handing over
their Answer Sheet to the Invigilator on
duty and sign the Attendance Sheet twice,
Cases where a candidate has not signed
the Attendance Sheet second time will
be deemed not to have handed over the
Answer Sheet and dealt with as an
unfair means case.

Use of Electronie/Manual Calculator is
prohibited.

The candidates are governed by all Rules
and Regulations of the examination with
regard to their conduct in the Examination
Hall. All cases of unfair means will be dealt
with as per Rules and Regulations of this
examination.

No part of the Test Booklet and Answer
Sheet shall be detached under any
circumstances.

The candidates will write the Correct Test
Booklet Code as given in the Test Booklet/
Answer Sheet in the Attendance Sheet.

1.

b.

asdeTHbE  ($8 Dol /daegd ),
©&ASDYE @&&éﬁ s‘@ (Admit Card) Lo
SredoTed.

KrB0808085 [ slBbe HEE eddas®
B D JRSP/ATIOR ES Rt HBD DB,

DeegD [ QergR ween DEeRY, ErsdetiSoRy
aIDBTOGHSH BBEOLE DOHOE JHEFED.
©BoRY) HBoP Both FY vosdo Bked.
ToUIrE HSod¥o Ecﬁaésﬁgé, easvee (S0
adg@s ;e H) SAS S
85 Sathl.

DoRE/SrrgSS SIS aletalaty AL

Dorgl/Rorsglen BBEARS® $0Y DBog,
Qoo orhawor tomd. {ETm
BoooBd H508 V2oisediidod ©$i
B85,

H0E HBL0 Hdw wsrmw Do G o
griisod Bree JEFTQEPED.

DB /DTIOR BO@oiS HOK B8 S, B6F
SiSo/eran Hod’ &R0, BT Higos®
TeQid.
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